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PART-I

(Questions 1 — 05)

. The company's profits were low, and they were forced to staff.

A. lisp off B. lay off
C. lay on D. lie on

. frafaRea @ ¥ fog AR = 1975 T HiH1 TRt & T 9498 St &1 TRBR Sifdr 412 /
Who among the following performing artists bagged the best actress award for Meena
Gurjari in 19757

A. ?ﬁ:ﬁ‘[ﬂ@ﬁﬁ / Sonal Mukherjee

B. R¥RT ¢4l / Sitara Devi

C. AT AR / Shovana Narayana

D. AT GRTHTS / Mallika Sarabhai

. HYRd P! Ja8 W3 Al GaE ﬁ%: / The cleanest river in India is:
A. mﬁﬂ?ﬁ W/ Cauvery River, Karnataka

B. SHNC AIc}, AeTerd / Umngot River, Meghalaya

C. AgME! -Ig}, ISR/ Mahanadi River, Odisha

D. W:I'cff HeRIY / Krishna River, Maharashtra

. Fefafed IR wsal # 9 @9 T (i wie 3 96 ¢ S8R T 3 ¢ | fIv eg &1 997
®| / Three of the following four words are alike in a certain way and one is different.
Select the odd one.

AT / Goggles

B. TRHT / Spectacles

C. STgWhIehd / Bifocals

D. 3ifPHa e / Optical Reader

. FrafaRed R wrsa! & 9 dF te Ffdd e 9 99 € SR T s gl favm &1 g1 /
Three of the following four words are alike in a certain way and one is different. Pick the
odd one out.

A. BSDHIH / Hendecagon B. 8RIH / Hexagon
C. 8P/ Heptagon D. UerH / Pentagon




6.

PART-II

(Questions 6 — 15)

Ul Telt (R ise) P e ST SH TR gRIfbar S gl/

Joining of thin foils is preferred to be done by:

A. TFITITW/ Gamma rays B. QEFH}\’ / X-rays

C. HIS%h1dd / Microwaves D. T 3fe& / Gas welding

15% 02, 25% SO2, 30% COCI2, 25% SO3 3R 5% N2 T aTct f(or & 10 T BT qoi
FT8? / What is the weight of 10 moles of a mixture with composition 15% 02, 25% SO2,
30% COCI2, 25% SO3 and 5% N2?

A. 564 B. 475

C. 867 D. 719

Faffed § ¥ $1F-91 9ifA® Sl BT IaeU A8l 57 /

Which of the following is NOT an example of mechanical energy?

A. 31TaRe® 3wl / Internal energy B. fufast S5uif / Potential energy
C. B / Work D. TfaS ol / Kinetic energy

9. Fufafad # I frd wadzar o1 HIfe Pt TUMT & [N T TR & U H A1 AT o bl 82/

9.

Which of the following CANNOT be treated as a variable for degrees of freedom

calculation?
A. 31Id- / Volume B. $I'€f/ Work
C. dIYHIT / Temperature D. &dld / Pressure

ST R¥C) H1 IMAMS® A 8: / Chemical formula of rust is:
A. Fe,0O3 B. FeO
C. FegO4 D. Fezog.XHzo

10. FEfRad # T fovH UHR & JgH D! Ugd el /

11

Identify the odd type of lubricant from following.

A. 318l 31 / Semi solid B. TR / Liquid
C. T / Gaseous D. 3 / Solid
. i guTd o ufefed H TR ufsfea §, /
Antiwear additive in extreme pressure additive is:
A. IO / Soapstone B. ;|s°8r>ii+c1 hIehe / Tricresyl phosphate
C. 314 / Mica D. UWTZE / Graphite




12. gfsal, fyams 7=+ enfe Sft Aree a=iHl & ford YR & e (@fsidie) &1 IuanT fasa

13.

14.

15.

ST 8?2 / What type of lubrication is used in delicate machines like watches and sewing
machines?

A. %4 fthed =8 / Fluid film lubrication B. e e / Extreme lubrication
C. i Hed/ Boundary lubrication D. Udet fohed ¥8 / Thin film lubrication

UY] 3R gRafa et o1 I f3mam e 8: /

Animal and vegetable oils are also used as:

A. T a8 / Oiliness carrier

B. YU Tale / Blending agent

C. f[aqra® TSie / Solvent agent

D. 3 GaTd Ioid / Extreme pressure additives

UeIferad ad &1 dauH sgH & fore fafafead & 9 fw sra &1 IuanT =g foar S
87/ To increase oiliness of petroleum oil following which acid is NOT used?
A. TIfHfe® TRIS / Palmitic acid B. WU TRIS / Stearic acid
C. m@g/ Acetic acid D. W@T‘S’/ Oleic acid

3D HIST P eRT- AT BV ¥ G7 & T {58 AutoCAD HHTS BT IUINT faaT ST 57 /
Which AutoCAD command is used to view a 3D model from different angles?

A. 3{ifda/ ORBIT B. X139 / SLICE
C. ffRR / MIRROR D. YaRFTA / SECTIONPLANE




PART-I

(QUESTIONS 1 - 05)

. He's interested learning Spanish.
A. for B.in
C. of D.on

. THUY-dS ___ 1 TP 32U g1 / MS-Word is an example of ___.
A. TH HTIRIET Red / An operating system

B. U UIIRIT f&argd / A processing device

C. TWIIhRE TeddR / Application software

D. Udh 3Yc f&argd / An input device

. U afad 600 Hiex dall G 5 e H UR &dr g1 fhaiiHie ufd 9 # S9! a1 |1 82 /

A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?
A 72
B. 6.3
C. 52
D.7.6

. WY D] BISHR, Th 99 B a1d 54 foort Ul HeT g 3R Wi Ifgd, ug 45 B ufd ger
21 99 ufd g fhan fire & forg st 82 / Excluding stoppages, the speed of a bus is 54

kmph and including stoppages, it is 45 kmph. For how many minutes does the bus stop

per hour?
A .10

B. 9

C. 12

D. 20

20 IS BT T T, x 3T & 19060 T & THF ¢ | A ATYH 25% §, A x BT A 6 /
The cost price of 20 articles is the same as the selling price of x articles. If the profit is
25%, then the value of x is:

A 18

B. 16

C.22

D. 27




PART-II

(Quetions 6 — 15)

6. U U fzreRe ¥ J&fdd Udies &1 uga™ &1 /

From the given pictogram identify the respective symbol.

A. fa&mIe / Explosion B. WdRT / Danger
C. T / Hot D. 814 # 9Ic / Hand injury

7. TS SMPfA A Haiftrd YR& UM $I Uga™ d | /

From the given figure identify the respective safety measure.

A. =T @t TifeaTl / Steps down B. 3TfY® SATHRIG / Highly flammable
C. forae W1l / Slippery floors D. fSTcll & edh &1 WdRT / Risk of Electric shock

8. SR &I ufshan &, 1R1a o1 I P HegH A o H AT Srar g/

In the process of brazing, the filler metal is drawn into the joint by means of

A. DiRrenT o / Capillary action B. ¥d®g d-ld / Surface tension
C. 3= TR / High diffusion D. Y fIUfIUIu= / Low viscosity

9. AT MiTA PIcS SIS & AT T P TR R 67 /

What is the typical coating factor for a medium coated electrode in welding?

A 1.25 B. 1.45
C. 1.65 D. 1.85




10. UH YT SAIHR UI8YT &1 S 7480 cm? B 1. Tl 3D AGTS 1.4 cm B, A STDI AICTS
(m = 22/7 TEAT AT ®) &: 1.4 m & 3R 3P| It BT 951/
The volume of a metallic cylindrical pipe is 7480 cm?. If its length 1.4 cm, then its
thickness (given 1 = 22/7) is 1.4 m and its external radius is 9.

A 1298 /1.2 cm B.0.99H /0.9 cm
C.0839H /0.8 cm D. 13 /1 cm

11. 3{aTd Uclies &1 A1 §ATI / Name the mandatory symbol.
A. 1T / Stop
B. 8§ / Guarded
C. f1a 31d / Give way
D. 3FISS / Unguarded

12. 19 37 & o 99 TB137 BT AR AT 82 /

What is the sum of even numbers between 1 and 377

A 171 B. 342
C. 129 D. 428

13. HiER 31 dfear urgsit 9 o+ gidl § ife d: /

Temple bells are made of metals because they are:

A. YRl / Heavy B. T / Ductiles
C. T8I / Malleable D. &g / Sonorous

14, TIHFT 3R i1 ST YT B ST R od &, o Gl yebr=r g S g1 /

Gold and copper happen to absorb violet light, leaving yellow light.

A. B/ green B. oflcT / red
C. el / blue D. AR / orange

15. aaﬁqgaﬂmmww%? / What is the reason for surface tension in a liquid?

A. &I'lILGﬁ & S ﬁ?ﬂﬁ d¢dl / Electrical force between molecules

B. 31UL3{ & ofld YHWP &1 / Cohesive force between molecules

C. G-Fij’rﬁ & o fIUdHH a1e1 9 / Adhesive force between molecules

D. S{Ule:ﬁ%@%[ Wﬁfm §¢dl / Gravitational force between molecules




PART-I

(Questions 1 - 05)

Our country is spiritual country, theirs religious.
A. have B.is
C. also D. are
. BF I BT YRS I 87 /
Who is founder of Haryanka Dynasty?
A. 3ISITdRT / Ajatashatru B. §YatH / Harshavardhana
C. & / Ghananand D. faffe¥IR / Bimbisara

. Fofafad vy 8 te sieR gaar & faftd ug o e 8, i @t ug g 8, S % )
SRT a1 T ]| fou T fawedt # ¥ g ue & gl /

In the following question, various terms of a letter series are given with one term missing

as shown by (?). Choose the missing term out of the given alternatives.
BD, GI, LN, QS, ?

A. VX B. WX

C.TV D. UW

. TP U PR Y U8 & QR A R o] Th-ga U SHTHA-ITHA &1 63 g A1 T ]
D BT 3 I aTs 3R | T 1 g9 [y fe=m # ute/

Find the ODD one out from the given set of numbers.
14, 28, 35, 46, 56, 84
A. 56 B. 84

C. 46 D. 35

394 & SfRTA WR O 5 &l B 31 BT AT 50 IY § | Jad BIc a7 B 31 T 62 /

The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is
the age of the youngest child?

A.45|'5f/4years B. 83’&/8years
C.103'Gf/10years D.E‘-—Iﬁﬁaﬁg:@'/Noneofthese




PART-II

(Questions 6 — 15)

6. 3MTh AfeSTT & GRT 3T fAfhRUT SR TWIdh ¥ deeR 1 ffEl IR A PIETH o
&1 TN T ST 31 /
arc radiation and spark during arc welding.

A. ﬁ?&ﬂ@ﬁ/ safety shoes B. WU / apron
C. fafafT e / chipping goggles D. afcE™T gaHe / welding helmet

is used to protect the eyes and face of a welder from

7. ﬁ—c{gﬂ Wé’%&'ﬂﬁﬂ% 3T B A1 82 / The arc utilized in electric arc welding is a?

A. ®H diced], 3 YRT Fdg / low voltage, high current discharge
B. 3 diceol, 3 YR fHag / high voltage, high current discharge
C.®H Eﬁ@\_ﬂ, DHH YRT ﬁéﬁq/ low voltage, low current discharge
D. 3= dices, HH YRT Fag / high voltage, low current discharge

8. 3AGCIS QI A dars B A ga &1/

The electrode are manufactured in two standard lengths namely.

A. 350 Tt 3R 450 Tt / 350 mm and 450 mm
B. 250 it 3R 350 f&HlY / 250 mm and 350 mm
C. 400 fat 3R 500 f&t /7 400 mm and 500 mm
D. 500 freft 3R 550 f#ft / 500 mm and 550 mm

9. SHfeTuRieet= T afcd & IuanT & forg, SifeRitor &1 Iared fovdes gRT o STt 87 /
For use in oxyacetylene gas welding, oxygen is produced by?
A. STel T IR0l / liquefaction of water
B. SI¢T &1 UGHUT / contamination of water
C. aTﬁﬁﬁ?ﬂW/ liquefaction of air
D. WWW—W/ electrolysis of air

10. Sffeurfet= 1 afcgT uforar fordt YR &1 g7 /

Oxyacetylene gas welding process is a type of?

A. TR afe@T / diffusion welding

B. G4Td afedT / pressure welding

C. faera= 13 / fusion welding

D. ¢Red 19 ¥ 8 aTelt A& / tig welding

11. URITCEH &1 a1 § Sendd e A & ifekiio gad 719 &1 &l & o1 Hgl offdl 62 /

The gas flame containing relatively more amount of oxygen than acetylene is called?

A. qlé;l%%‘l Sd[dl / nitriding flame B. STSRIISHT SaTell / carburizing flame
C. HEW??[/ neutral flame D. ‘BITFIB_C’/ Graphite

10




12.

13.

14.

AT A=A, forhT ITaRT Wit afcST Syfe & it afed syfe & uRkafid &= & e
fpar ST 87 / The welding machine, which is used to convert AC welding supply to DC
welding supply is?

A. fFCHTR Te / rectifier set B. Wm / welding transformer
C. 3o SReR ¥e/ engine generator set D. AR SRR ¥ / motor generator set

fOreret g3 teTeRy Sl Ag3ie Aed 31dh AT # 98 U1 IR o/F STdT § S8 &1 Hed 87/
Molten flux Which solidifies over the weld metal in manual metal arc welding is called?
A. TTHI THIfad 83 / heat affected zone B. X1 / slag

C. ﬁ?{?ﬁaaﬁﬁv/ cellulose coating D. TRIRT / flash

e Ricier & wRifeei frae faafea gt g1/

In an acetylene cylinder the acetylene is devolved in.

A. THIEH / acetone B. URT / mercury

C. 9ld / water D. RIeR &ﬁaﬂs—s/ silver oxide

15. SIS &1 I9ANT foh &l ergaf &1 e & forg fasar sar g2 /

Brazing is used to join which two metals ?

A. Utdd ¥ UIdd / brass to brass

B. T T TegfHaH / aluminium to aluminium
C. WId ¥ ¥ / steel to steel
D. did ¥ did d% / copper to copper

11




PART-I

(Questions 1 — 05)

1. Choose the correct option, which is the synonym of the given highlighted word.

Fictional
A. Genuine B. Authentic
C. Fanciful D. Real

2. WA &1 UGl AP TUGTAT Hg! @Il 7T UT? / Where was India’s first National

Museum opened?

A. faeett / Delhi B. 8&XIdIG / Hyderabad
C. SR / Jaipur D. §&% / Mumbai

3.3 a-b =16 3R a?- b’ = 544 §, Tl 2ab HT A F1d B /
If a-b =16 and a’- b® = 544, find the value of 2ab.

A. 350 B. 450

C. 500 D. 550

4. fa¥q g1 / Find the ODD one out.

A.

c { )
—

5. T 3MTeHT 30 formit Ufa O ot =ra ¥ 15 fopedt, 20 fope ufd g &t =rar 9 50 foeeht 3R 120

forrht ufar ¢ &t =rer 9 30 forddt &t o a1 O A § o 9 91 B / A man

travels 15 km at a speed of 30 kmph, 50 km at a speed of 20 kmph and 30 km at a speed
of 120 kmph. Find the time taken throughout the journey.

A. 292/ 2 hours B.2.54c /2.5 hours

C.31¢/ 3 hours D. 3.25 Hc / 3.25 hours

12




PART-II

(Questions 6 — 15)

6. 12-dleT WIS %ﬁﬁﬁ%ﬁ@aaﬁév / How many cells are there in a 12-volt

storage battery?

A. 6 PIRIBTT / 6 cells B. 12 BIRABT/ 12 cells
C. 24 DIRABTT / 24 cells D. 18 HIRABIY / 18 cells

7. 919 12 V 08 TRIS St ) fEars! foan Sl 8, Y Saae iarge (aRa) o Sifan fufa e
B 82 / When a 12 V lead acid battery is discharged, what is the end state of the
electrolyte (liquid)?

A. GRS 31T (H,S0,) / Sulfuric acid (H,SO4)

B. UM (H,0) / Water (H,0)

C. RSN 3T (YTRTTA) / Hydrochloric acid (HCl)

D. &S Fethe (PbSO,) / WS Felhe (PbSO,)

8. @Wﬂﬁ@ﬁm éﬁﬁmmmwm% / When fully charged, the
specific gravity of acid in a battery is:

A.0.74 B. 1.00

C.1.18 D. 1.28

9. Ww?ﬂﬁ:ﬁﬁ %W%W@ETW@HT%/ In modern vehicles, the headlight
dimming switch is mounted on the:

A %'Qlﬁﬁé/ Dashboard B. STHIF / Floor

C. FI%‘S’W/ Side panel D. TI'I@WBW/ Steering column

10. Afc 6 diee B g1 deikal Jufierd T Siie! ot df 39 T & Hd &Hal BRT: / If two
batteries of 6 volts each are connected in series, then the total capacity of this set will be:
A. 12T /12 volts B. 6 dlc< / 6 volts

C. 14l / 1 volts D. 18 dlec / 18 volts

11. Ueh NA13S &l HSerl T SUTNT Bl & | 37 B8l ST 8: / A solenoid uses two
coils. These are called:

A. 3R Yp T 3R CIRN EEANEL / Push-in and pull-out

B. 3{aR W4l 3R §TER Y el / Pull-in and push-out

13




C. JRI-3 3R §Ie8- 33T / Push-in and hold-out
D. Jd-39 3R §I&8-8 / Pull-in and hold-in

12. 3ficiAifea 's’@HEjﬁW & Fl—c(rﬂ-fﬁ 'CAN' R[eq DT 3f %: / The term '‘CAN’, with reference
to automotive electronics, stands for:

A. fREEig ?ﬁﬂﬁ—dﬂ?% / Controllable Artificial Networks

B. X ATl UTd Jead / Computer Assisted Networks

C. {99 &3 Fedd / Controller Area networks

D. sﬂﬁ@aﬁ%:@'/ None of these
13. W AR §, Pleg aefeT 396 IRY 3R A0S ST 8: / In a starter motor, the field

windings are wound around:

A. 3THTR / Armature
B. 37111%??/ Commutator

C. §IR1/ Brush
D. @Ff\_rlff/ Pole shoes

14. 3ficHifed ﬁﬂgﬁ JuTTelt 8 B Bgd T+t S FHRall 6 / The automotive electrical

system does all the following EXCEPT:

A. ﬁﬂgﬁ Sl 37 Bl § / Produces electric energy

B. 3feeRAcR | ﬁ?{ﬁﬂ Soll B! TUfRd AT § / Stores electrical energy in alternator

C. ﬁﬂgﬁ Soll B! IS U § GUfRd BT § / Stores electrical energy in chemical
form

D. 3 faggd IUSHRUN & Wit IR faggd Sl Ue &Rl & / Delivers electrical energy on
demand to other electrical accessories

15. Fofafea & @ 1F-31 WIdk Hiex | adA UdTg 3 %H & el &1 3 3R1d exar g2/
Which one of the following CORRECTLY indicates the current flow sequence in the starter
motor?

A. ST - TR - HRICTR - TR - FIICT - ST - ics dTefe™ - ASS / Battery - Brush -
Commutator - Armature - Commutator - Brush - Field windings - Ground

B. dcX} - ice arefem - oi% - W?T - R - MRS / Battery - Field Windings - Brush
- Commutator - Armature - Ground

C. ST} - IS TEfST - § - HHILCR - W - HRCR - 5 - ASS / Battery - Field
Windings - Brush - Commutator - Armature - Commutator - Brush - Ground

D. ST - F - HRICR - BIcS ST - 3R - HIILTR - T - AT / Battery - Brush -
Commutator - Field windings - Armature - Commutator - Brush - Ground

14




PART-I

(Questions 1 - 05)

Which of the following is a conjunction?

A. With B. Because
C. Therefore D. Make

. 2022 T, 57 {3 TR § S T ], g Wk H W fohaH Wied BerT Sdied 81
2l GiﬂTIT:T%? / In 2022, how much plastic waste was estimated to be produced annually

worldwide,

as mentioned in the passage?

A. 251 faferaa @ / 251 million tonnes B. 52.1 fAferaa @7/ 52.1 million tonnes
C. 5.8 AIferaT @ / 5.8 miillion tonnes D. 3.5 fafer™ad @ / 3.5 million tonnes

. TS A3 BT HH-U1 &7 Gol B dH &1 Foird a3 Tad & U & Wiiked Uguul &
E@,%@%W@ﬁ@ [T §? / Which region in the Global South differs from others

due to having a larger share of plastic pollution in the form of uncontrolled debris rather
than open burning?

A. SU-TERI 3] / Sub-Saharan Africa B. af‘&rwqﬁ QUFRMT / Southeast Asia
C. G2fur 3[R / South America D. f&u1 TR / South Asia

. T& i3 600 Her dell I 5 fre H UR Fxal 5| fhamieR ufd ge # S9! ard |1 8? /
A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour?

A 7.2

B. 6.3

C. 52

D.7.6

20 T3 BT HT T, x IXG3N & [dehd Yo & THH ¢ | Al ATH 25% §, A x BT A & /
The cost price of 20 articles is the same as the selling price of x articles. If the profit is
25%, then the value of x is:

A 18

B. 16

C. 22
D. 27

15




6.

10.

PART-II

(Questions 6 — 15)

AU (Fd IATGH /W) F SR § FUIART fobT S arel 5 T Rigial §, gk S &1
3B /Inthe5S principles used in the implementation of TPM (Total Productive
Maintenance), the second S stands for:

A. 93 / SEIKETSU B. U3 / SEISO
C. e/ SEITON D. A3 / SEIRI

The function of Injector is

A. HgI H UdR B 9 Ug gl B ITUHH ST /

to increase the temperature of air before entering the furnace
B. S1geR | U 81T / to feed the water into the boiler
C. YEI H U DR & §1C gl DI AGHM HH AT/

to decrease the temperature of air after entering the furnace

D. 7fieft WY I JWIT / to dry the wet steam

AT IR B FH B P ol ITHTE HT SH ITd SUBT B PHET A Bl /

The device used to reduce exhaust noise is called

A. HB AR / muffler B. T U184 / Exhaust pipe
C. AT AfWIEE / Exhaust manifold D. & UTSY / Tail pipe

8 & GRM SIod Soi & RIS} H I G aTell 3MTaTe, STHAR IR a9 ofd S8+ adt J $Y
godeH U gl 8, S PEIIaIgl /

A noise produced in the cylinder of a diesel engine during combustion, usually when the
fuel oil has a low ignition quality is called

A. Sﬁiﬂﬁ?ﬁf/ fuel explosion
B. 38 T¥® / fuel knock

C. 'sﬁ%l:f?rﬁ?/ fuel thrust

D. E‘E‘c‘HﬁFﬁE/ fuel burst

Ta-R BT T aHt THTE 81 Jobdl § oI RIkeH TReTSe 8| I8 {69 UBR BT a1

87/ The operation of the governor can only be effective if the system is airtight. Which
type of governor is this?

A. W/ Mechanical B. FITZIT/ Servo
C. gAfe® / Pneumatic D. IS SIfeidh / Hydraulic

16




11. oM piei R § yrfee B3 §: /

The purpose of a thermostat in an engine cooling system is to:

A. Tdd® B ST I BT / Prevent the coolant from boiling
B. S5 &1 Sfeg] TTH B &1/ Allows the engine to warm up quick
C. 39qd foig P dgM & ot RRed W gard e/

Pressurize the system to raise the boiling point
D. A& I e BT dTaH  adT / Indicate to the driver, the coolant temperature

12. iR Sftared 4= § 3 707 BId §: / Most of the fossil fuels have:

A. AY:Ud- / Degeneration B. EH:WEE:T / Spontaneous combustion
C. fa@pie / Explosion D. ol G8 / Rapid combustion

13. U8 TS et ﬁﬂﬂﬂﬂ%ﬁﬂ@ﬂﬁ?%— / The electrolyte used in lead acid battery is-

A. T13fedh TRIS / Nitric acid B. WTsfe® TRIS / Citric acid
C. IR RSP TRIE / Sulphuric acid D. BTSsIadN® YRS / Hydrochloric acid

14. BH P Tfd, f4 & ATe0H T gTed H HART gldt 8¢ /

The motion of the cam is transferred to the valve through

A. 9icd ¥H / valve stems

B. W/ camshaft pulley
C. Y / rocker arms

D.ﬁE:[/piston
15. hbp g B oid-Te FHgferRad & I fhads e & SR sa1 82 /

Water sludge is formed in the crankcase due to the mixing of which of the
following?

A. oid] eﬁ?a@/ Water and air
B. olc] GﬁT'sc‘éFf/ Water and fuel

C. Y 3R I / Fuel and oil
D. old S?ITaFI / Water and oil
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PART-I

(Questions 1 — 05)

1. Correct the following sentence with the correct gerund.
A. | ate before resting B. | had to eat before rest
C. | eat before rest D. I will eat before rest

2. 2019 T, fd AIHUT TS D URd d TRIGR I M {31 71?7 / In 2019, which
popular singer was awarded the Bharat Ratna award?

A. AT HIRIHR / Lata Mangeshkar

B. 3{TRIT HI¥Icl / Asha Bhosle

C. @?W/ Bhupen Hazarika

D. 71 S / Manna Dey

3.3 % 3R IYD hH BT 3R F1d BT / Find the difference of 3 % and its
reciprocal.

A. 209/60

B. 203/60

C. 209/120

D. 203/30

4. ﬁﬁlﬂﬂeﬂ / Find the ODD one out.

A. ﬁa/ Printer

B. ﬁ=r:=;,13a/ Pen Drive

C. BTS f$%® / Hard Disk

D.mmm/ Random Access Memory

5. T SATGHT SUHT AT BT 75% HIT 75 bl ufe € 1 a1 F iR Jw g 90 fobelt wfy €
&1 I A T HAT 6 | T AT D SR SUSDT 3id I1d J1d DIforg | /

A man travels at a speed of 75 kmph for 75% of his journey and at a speed of 90 kmph
for the rest of his journey. Find his average speed throughout the journey.

A. 60 fordT gfd &1 / 60 kmph

B. 65.50 fabHl Ufd ©eT / 65.50 kmph

C. 72.25 fordit ufc gt / 72.25 kmph

D. 78.75 fabHl Ufel ©eT / 78.75 kmph
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PART-II

(Questions 6 — 15)

6. fort & 171 T 19 91 82 / What is the name of jig in the figure?

A. e f5rT/ Plate jig B.%ﬂﬂﬁrﬂT/Channeljig
C. €9 R0/ Trunnion jig D. ¥3faa fSAT / Sandwich jig

7. ﬁ?-msumamﬁaﬁq-xﬁ 8? / Which is a non-metallic tool material?
A. 3 Hed Td / High carbon steel

B. 81X / Diamonds

C. W / Stellate

D. Eb"lafs_s’/ Carbide

8. UiHice Falgs fou ¥ HeiF & & dlg & Ucd & (A SUDHRUT Siidd Jadhids b1 Jed

R 8? / What is the value of tool life index for a cemented carbide tip to machine cast

iron component?
A.0.10 B.0.125
C.0.20 D.0.128

9.CRAMEGId =Y -2 (s+n) H 3R Y BT A 31f g7/

What does the letter Y stands in the formula d =Y - 2 (s+r) in taper measurement?

A Eﬁ%ﬁﬁtﬁ@ﬁﬁlﬁm/ Diameter over rollers at small end

B. @@WWWW / Diameter over rollers at big end

C. 3R &1 94T / Radius of the roller

D. AR & &g Y °9ch & &IHW@@ / Distance from the center of the roller to the end
of the component
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10. 93 99 R It Mafaf & B Tag &1 Idre &3 & 7 g THR &7 ST

G'Cl'ﬂﬂﬂ%? / Which type of tool is suitable to produce form surface in mass production
activities?

A. m%@ﬁﬁgﬁﬁmﬂm/ Using carbide tipped form tool

B. 3 T8 SXUTd IUHRUT / High carbon steel tool
C. B8 s Wd HIe &I IUSHRT / High speed steel cutting tool
D. T fdg BT aTdl SUSHRUT DI SUTRT ®HRAT / Using single point cutting tool

11. foFaeeR T IUGIT A T fAAY 14 T 82 / What is the special benefit of using a
fixture?

A. IdTGH B il & / Slower rate of production

B. Wwaﬁ TIRGH T & / Skilled worker required

C. TG 1 oWl &R / Faster rate of production

D.BIc §d Sdla- %ﬁmamgaa/ Suitable for small batch production

12.fRu U R & s1eR ‘o' R SM@B? / In the given figure, what does the letter ‘a’

denotes?

b

; / el
\' /
.\'\. /"

A. :I'EL:ITFWI%/ Sampling length

B. WGRaxMU- HcU / Roughness values
C. 3d1g faf¥ / Production method

D. TR Yl / Machining allowance

13. U fqqer0r s veeh § Thep 1 0T R 1 3 71 82 / What is the formula for
calculating throw in an eccentric turned component?

A. Bl = 3/2/ Throw = E/2

B. Wbl = 3 / Throw = E

C. B! = ZX'QF/ThrOW: 2xE

D. %l = 3x3 / Throw = 3 x E
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14. AR WS W BT T IYTNT 82 / What is the use of roller steady rest?

A. SIS BT JHYT B 3R Si1d & 1Y Eqm XA & fAW / To support the job and travel
along job

B. I8 Udal 1Y o1 THYA &+ & fad / To support long slender work

C. ol Udeit Gﬁ?ﬁ—cﬂ%aﬁmﬁ%m/h support long thin and thick rod

D. 3 aftid Sifg &1 9w & & e / To support irregular job

15, THRDITUP TS T IR BT HTYBaH fobd=T MHR ST ol bl 82 / What is the

maximum size of bore that can be checked with telescopic gauge?
A. 152.4 Tt 7 152.4 mm B. 88.9 f#t / 88.9 mm
C. 539 faHit / 53.9 mm D.31.7 f&#t /31.7 mm
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PART-I

(Questions 1 - 05)

. After Rajendra Chola returned from his voyage to Indonesia, he to visit the temple
in Thanjavur.

A. was wishing B. is wishing
C. wished D. had wished

. AfSHTe Y@ fog 3= & &9 82 / Maginot line exists between which country?

A. ST 3R 3@ / Namibia and Angola
B. 3T 3R HTST / USA and Canada

C. ST SR Uics / Germany and Poland

D. W19 3R SIHH / France and Germany

. YRd &1 AR T 981 5§ 994 & o 39 & dobl 7  fpgeT 3/ g Il & a1y faag
fodT STTW? / Which of the three banks will be merged with the other two to create
India’s third-largest bank?

A. GoTd 99Hd S / Punjab National Bank B.'{%TFI%/ Indian Bank

C. 9% 3Th QS Ial / Bank of Baroda D. a:IT%/ Dena Bank
ST T SATAT R DI AT AT A2 /

Which number should come next in the series?

1, 2, 3,10,

A 99 B.79

C. 89 D. 98

. T PINK 1 1691411 & U H HifSd fovar Sirar 8, o RED &1 o ®u H pifed fovar smm
/ If PINK is coded as 1691411, then RED will be coded as

A. 1963 B. 1854
C. 1853 D. 1954
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10.

PART-II
(Questions 6 — 15)

frafefad & @ o1 9 ufear urq frseree ufsear & sidifa =t et 82/
Which of the following process is not grouped under metal removal process?
A SIRTT/ boring B. fAifci / milling

C. mﬁm/tumbling D. fefT/ rolling

frgfeRad & T o1 Jag gRwsRor Ufehar & 3idifd =T8T Sar g2 /

Which of the following is not groped under the surface finishing process?

A. 3T I BIeT / sawing B. ¢ftT / tapping
C. §fthT1/ buffing D. Ui / polishing

YTq s Uforan &1 fora gt & avffepd foban ot wavar 57 /

In how many groups, metal removal process can be classified?

A2 B.3
C. 4 D.5
g e & by e 3 e i 22

In which type of metal removal process grinding is included?

A. URUR® HRMT / conventional machining

B. TR-URUR® T=AMT / nontraditional machining
C. 3UYY® UfshdT / abrasive process

D. S_FI'EI I Tﬁ'sc 'Tﬁ/ none of these

1S 7 I8! 3¢ 1 & forg FRuforiad & @ forg Sueur &1 SuanT far Srar g2 /
Which of the following tools is used to make perfect holes with a fence?

A TTL/ LetL

B. YId / Metal

C.TTTL

D. TR / Reamer
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11. TG &1 19 I 82 / What is the name of the operation?

A. T/ Reaming

B. Wic BRI/ Spot facing

C. B3R §IRT / Counter boring
D. H13cR RifdhT / Counter sinking

12. 3ATIRRT &1 19 FT 82 / What is the name of the operation?

A. Iic BRI/ Spot facing B. BT3ex Rifd / Counter sinking
C. B3R AT / Counter boring D. 3fHT/ Reaming

13. 9 & 9 319 91 IR-uRuRe 7= BT UbR 57 /
Which of the following is the type of nontraditional machining?
A.E'fzrﬁ'[/turning B.ﬁ‘;’%’ﬂ/drilling
C. ﬁﬁ%‘m/ milling D. %ﬁ@ﬁ'ﬁcﬁ/ none of these

14, P9 8 3 HH 91 R-IRuRS TR 1 THR T 82 /
Which of the following is not the type of nontraditional machining?
A. faggd I8 UfehdT / electrochemical process
B. I HRATT / chemical machining
C. Tif% STl UfhdT / mechanical energy process
D. E:Iﬁ@(ﬁ'sc:@)[/ none of these

15. T ArgehHex # 0.03 fonft & Honetss Ffe gt 31 afe AgiHier 40.53 finft Agar g ot

el ST T 81 / A micrometer has a negative error of 0.03 mm. What is the correct

reading if the micrometer measures 40.53 mm?

A. 40.50 9} / 40.50 mm B. 40.56 f#Y / 40.56 mm
C. 40.46 T8t / 40.46 mm D. 40.06 T&# / 40.06 mm
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PART-I
(Questions 1 - 05)

. Jofra Archer, the England fast bowler, is than accurate.

A. more fast B. faster
C. less fast D. more fast

. AR HIHR! B RITTHT G TS &1 AU &b =0 H g4 gRT &1 T3 T /
Fatehpur Sikri was founded as the capital of the Mughal Empire by

A. dlsiR / Babur B. 3{haX / Akbar
C. SIgRIR / Jahangir D. g9/ Humayun

. gHKIW T GRER Bfd B UT? / Who was the court poet of Samudragupta?

A. dIUTHS / Banabhatta B. 8RYUI / Harishen
C. 9G8Rals / Chand Bardai D. Ha4fd / Bhavabhuti

. 98 fadeu g o IR g ¥ It e Hefid § o dvg guvT U ugd ug 9 Gefd g1 /

Select the option that is related to the third term in the same way as the second term is
related to the first term.
IVORY: ZWSPJ :: CREAM:

A.NFDQB B. SNFDB
C. DSFCN D. BQDZL

. Frofafea vy & fou U fawenl & O S&iid Sreg g &1 901 oY

&g IT: m : CIshISS:? /

In the following question, select the related word pair from the given alternatives:
Tuberculosis: Lungs :: Typhoid:?

A.THd / Liver B. 3{1d / Intestine
C. %S / Lungs D. Gf%Ith / Brain
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10.

PART-II
(Questions 6 — 15)

T T USRI D1 Heg T B St ¢ Fo Y BT o1 g /

Boring is done with the help of a tool known as

A T/ taps B. SIRT Pex / boring cutter

C.Eb"%"fgﬂ/ cutting tool D. @E%’H/ twist drill

aferst T A== &, =i @1 a8 fTw1 8 St g & B WR e v Sran § SR
@ﬁwwéﬁmaﬁ% / In a horizontal boring machine, the is that part
of machine which is fitted on the floor of the shop & has a box-like casting.

A. 98 / bed B. 8SXCI® / headstock

C. BT/ carriage D. Qﬁ%‘&’ / tool head
SR AR o TS IR WY ITal STd TR AT HTIRYA & AT Hex &1 JHYT ST
g1 /Ina boring machine supports the cutter for boring operation on jobs have

large bore diameter.

A SIRT R / boring cutter
B. AR =g / boring blades
c.aifRIg/ boring rods
D.SIRTER/ boring bars

Jdg Dl duit ¥ 3R TP =0 I 729 H1 & faw UHR BI ST A=A &1 STanT

fpar ST gl / types of boring machine are used for machining surface rapidly and
accurately.

A. ORI ST 9= / Precision boring machine
B. ﬁFT@ﬁ"Tﬂ'&’ﬁ‘[/Jig boring machine

C. &fas ST T=F / Horizontal boring machine
D. afdwa ST A=A / Vertical boring machine

afiéwa fifeRt a=fiF UeR AT &1 U6 UHR 8: / Vertical milling machine type is a type of:
A. ﬁFT@ﬁ"TmEﬂq/jig boring machine

B. TS iR A=t / precision boring machine

C. aféha IR TR / vertical boring machine

D. ETWJ?HWW/ horizontal boring machine
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1. @ A oA s dea I gafSd gt g1/

The table of a horizontal boring machine is provided with

A. H -¥dle / H -Slots B.T -WIc / T -Slots
C.C -l / C -Slots D.V -&Ic / V -Slots

12. TSP TP HIAH T3S g1/

The headstock supporting column guides is

A. %SE'VW/ headstock B. CATIB / tailstock
C. BT/ carriages D. ¢ / tools

13. e9d mméﬂﬁmaﬁﬁ% / The table is usually mounted on:
A. éﬂﬁﬁ/ tailstock
B. ¥8d / saddle
C. %m/ headstock

D.%ﬁ"T/tapping
14, T ahUg & Johid RRY B dad B SI Ufehan B HEIA G /

The process of beveling sharp ends of a workpiece is called as
A. AT / knurling B. fdT / grooving
C. BRI / facing D. IWBIT / chamfering

15. Faffea & 9 &F a1 srced 31& & 1Y ST B! A=A Tl & [ Th dA 87 /
Which of the following is a mechanism for mechanized movements of the carriage
along longitudinal axis?

A. WT@—W/ Cross-slide B. HUSS & / Compound rest
C. WU / Apron D. ﬁ@;a/ Saddle
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PART-I

(Questions 1 - 05)

Which of the following words is plural?

A. Index B. Analysis
C. Crisis D. Criteria

. HH-T d¢ T UK s I &1 Ipfd & TR & THSR e=0iar 82 /

Which Veda reflects the information about the earliest Vedic age culture?

A. 37d¢ / Rig Veda B. I9ld< / Yajurveda
C. 3{Yddg / Atharvaveda D. 9THdE / Samaveda

. Fofaed 7 @ o g 2R A8t ur? /

Which of the followings was NOT a Harappan city?

A. dIYd / Lothal B. YIAITART / Dholavira
C. HgXg / Mehrgarh D. HIR&dl BIg / Sokhta koh

) aﬁq-mwﬁw%? / Which word is the odd one out?

A. trivial B. unimportant
C. important D. insignificant

. T NOIDA &I OPJEB foraT WY, @ DELHI 1 SIS ol gIIT? /
If NOIDA is written as OPJEB, then what will be the code for DELHI?

A. EFMAK B. EFAMK
C. EFMIJ D. EFMIK
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10.

11.

PART-II
(Questions 6 — 15)

g G- Jg Ibd el g [P HU BT TG §l/
Thermal equilibrium indicates that the flow of steamis __
A. 983511 / polytropic B. SffTIRIAR—IS® / hyperbollc
C. gHdl / isothermal D. ﬂﬂm / isentropic

i T FHR A &) fhft B F W7 U I Aeh™ S, df 390! Yol gRT &fao I
ST T BT R EI? / If a square lamina is freely suspended from a corner, what is the
angle made by its side with the horizontal?

A.180° B. 90°
C.45° D. 0°

1 il Hg &1 A 97 & SRIER B: / The value of 1 mm of Hg is equal to

A. 1333 N/ m? B.1.333 N/ m°
C. 1333 N/ m? D.13.33 N/ m?

I8 vard o ¥ =g aH 9 SRS 8l 6 /

The material that has minimum gage factor is:

A a""l:ﬂ:f/ Manganin
/ Monel
C EI'TIT\‘%ET-[/ Constantan
D. sqﬁ@rﬁ's‘?sﬁ/ None of these

Hie Yl o ferg AT THHTS A € /

The approximate nominal diameter for coarse threads is:
A.d=0.5dc

B.d =1.136 dc

C.d=1.19dc

D.d =1.59dc

fafiea & 3 frg 79 o1 smuifde s gAaq 87 /

Which of the following gas has a minimum molecular mass?

A. E’IB@\_:F[/ Hydrogen
B. :TI%:@GF[/ Nitrogen
C. #1349 / Methane

D. fiaitor / Oxygen
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12

13.

14.

15.

. TUTTIh THRTA GRT HBAT BT HeRU[ i Heard 6: /

Transmission of heat by molecular collision is known as

A. TTRUT / Transmission B. ©T¢T / Conduction

C. faf&Ru1 / Radiation D. ¥dg+ / Convection

{[Efaﬁ g &1 dTaHT {1 82 / What is the surface temperature of sun?
A. 6000 K

B. 2000 K
C. 3RIH =9 ¥ F&1/ Infinitely large

D. 20000 K

Ul I8 & e Ue 3-1el S8R HIex HT UfaR haex AT R Bl I ]/
The power factor of a 3-phase induction motor near full load is expected to be
around

A. 0.8 AffiiT/ 0.8 lagging
B. 0.1 @fT/ 0.1 lagging
C. 0.8 AR/ 0.8 leading
D. 0.5 AfT / 0.5 leading

P & [IH BT UTeH - arell I31 ave A SAFHICiUs dkaer 9l & iy dker RRie

1 TS T 82 / What is the number of elastic constants for a completely anisotropic
elastic material that follows Hooke's law?

A.3 B. 25
C. 21 D.4
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PART-I

(Questions 1 - 05)

Identify the tense used in the following sentence: They will have been writing their letters.

A. Future Perfect Continuous B. Future Continuous
C. Present Perfect Continuous  D. Present Perfect

. YRd &I TUFET 2011 & R, FafaRad gl d 3 fovg g o amdtor 2rgs feimgura o
TaY 3D AR UT? / As per Census of India 2011, which among the following states had
the highest gap in rural urban sex ratio?

A. fgHTad U= / Himachal Pradesh B. IF%I'ER/ Manipur
C. 4T / Goa D. R / Kashmir

. LQPITARIP, MBI A, LBTAAMEI M, HBI g8 81J, HBTUfd g1 P, L T fhT TSR
W@H%’P / Lis the wife of Q. P is the mother of M. J is the father of L. M is the sister of H.

J is the husband of H. How is P related to L?

A, HI B Iﬁ/ Mother's mother

B.EIB:[W@ET/ Sister's son

C. ﬁﬁa%:f/ Mother's sister
D. Wﬂiﬁﬁ@[W@f Giﬁﬁ/ More than one of the above

. A B, C, D, E 3R F cfeur fa=n &t 3R g #b T Ufad § 86 &, AferT el et o 32t o
HEHEBF AP IV IS G A BH AL A NI VMR IBI5I F, ANRD F S H IS5 D
%ﬁa%amaﬁqaa%? /A, B, C, D, Eand F are sitting on a row facing the South direction,
but not necessarily in the same order. E is sitting immediate left to the B. A is sitting
fourth right to the B. F is sitting between A and D. Who is sitting immediate left to the D?

A.B

B. A
C.C D. s——ﬁr@faﬂs‘qﬁ/ None of these
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5. g8 faeey amefa o Rrad & 1 e siafiRd § aufa &) sgmfa i @)1 /

Select the option figure in which the given figure is embedded (rotation is NOT allowed).

A.
N
\
B.
N7
\
C.
D. 3_'-I'~Ef I ﬁ"iﬁ -Tsﬁ'/ None of these
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7.

8.

9.

PART-II

(Questions 6 — 15)

AT, 92 AT fordTsre gae &7 ST et #x % forw fohar s ashar 21/
Lissajous patterns obtained on a CRO can be used to determine .
A.IRUT delld / Phase shift B. dlecsl 3TATH / Voltage amplitude

C. 31T fa&=qu1 / Amplitude distortion  D. fdggd Ry / Electric circuit

WWWW%? / What is the use of a transducer?

A. ﬂ-ﬁmﬂ'[:ﬁﬁﬁ—c{ﬁﬂ 31T H §&aT / Convert physical values into electrical impulses
B. ﬁagaﬂﬁﬁm/ To amplify electrical signals

C. Ufsbarst &I A &3 & it / To control processes

D. Wmﬁhmﬁ%m/ To display information

FofRad # 3 ford IudHu 1 IUANT 31e AU & o fapan i g7/
Which of the following instruments is used to measure pressure?
A. JTRIARDIT / Oscilloscope B. dleccHIeR / Voltmeter
C. BHeR / Manometer D. THIeY / Ammeter

fafafad & @ S It 90 Bt Idd 3BT 87 / Which one of the following is a derived

unit of time?

A.¥cT / Hour

B. &S / Second

C. rﬁa/ Meter

D. W’ﬁﬂa/ Kilometer

10. fagga urT AR & fo FAufafad o @ forg SuesRur &1 IanT fesar Sar 82 /

Which of the following instruments is used to measure electrical current?

A. Tec IR / Multimeter B. SRIHICR / Barometer
C. ¢pHIeR / Tachometer D. YyHAIHY / Thermocouple

11. S I e AIY T TP IAR-TGT BT qUH HRT § Sl Taryd Ffedl & BRI gl g

87 / What word describes random fluctuations in a measurement that are NOT caused by
systematic errors?

A. TR / Noise
B. §81d / Drift
C. %@ﬁ?ﬂQ/ Hysteresis

D. JaRIg / Bias
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12. FAgfoRaa & @ {5 Suesur o1 Iuai {5 9id &1 pH AT & o fear ST g2 /
Which of the following instruments is used to measure the pH of a solution?
A. fihaeiHieR / Refractometer B. pH e / pH meter
C. @H@Tﬁ'@ﬂa / Spectrophotometer D. HARHIER / Colorimeter

13. ZYC AMI 1 Th [aK]d $Tdl Bl Gcidh U I A o I8 bl ST &1 & &1 g
W%WMWWWWW%HWhat term is used to describe an

instrument's ability to precisely measure a wide range of input values?

A Xfadr / Linearity

B. Tde-RITAdT / Sensitivity
C.X&/ Range

D. ﬁ@ﬁ?ﬂ/ Resolution

14. XMUT & U &1 T ST AT & foe Fofafed o 9 g Sumor &1 Iudi faar St g2 /

Which of the following instruments is used to measure the speed of rotation of a shaft?

A. WET/ Tachometer B. Ao HIeR / Multimeter
C. ARTaR®IY / Oscilloscope D. dlecHIeR / Voltmeter

15. 1§ YC U THH &R IR Jeadl ¢ al SUHRUI & 3G 3R 3fT3eYe & o1d Jae Bl DI
T T WefHd HRT 87 / What phrase refers to the relationship between an
instrument's input and output when the input changes at a consistent rate?

A. &ﬂqﬁ[m/ Frequency response
B. =RUI ufaferar / Step response
C.?‘qﬂﬁlﬁm'[/ Ramp response

D. 3{1a7 wfdfeharn / Impulse response
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PART-I

(Questions 1 - 05)

1. Select the grammatically correct sentence.

A. He ate the sweets greedy.
B.I could not find it anywhere.
C. I haven't got none.

D. He is much weak.

2. WAIRCSH UGHUI TR Uga B ¥0 I SIHGRT RIS Oty faswRia #37 & fog o
RIS SR YgHd §37
A. ﬂ'gaaﬂgmiawmrr/ United Nations Environmental Assembly
B. fa%y WA 113 / World Health Organization

C. WWW 3TN / European Union Environmental Commission
D. 3feRTSII &1 BI¥ / International Monetary Fund

3. TR I9a fobg a9 & AT ST 87 /

In which country is the Flamingo festival celebrated?

A. HRd / India

B. RITIQR / Singapore
C. ™M / China
D. A / Spain

4. AT G-Wﬁﬁo_defﬁ‘ﬂ\_ﬂ 87/ How many triangles are there in the given figure?
/ \\\
£ / R

_\_

%/

A 13 B. 32
C. 21 D.24

35




5. XY &1 IR T U Hgl, a8 TR a1 & a1 ot At drufa 81 v, x I 59 yeR Fefta

87/ Xintroduces Y saying, "He is the husband of the grand daughter of the father of my
father". How is Y related to X?

A. YT / brother B. I/ / uncle
C. 98-9Ts / co-brother D. aé:ng/ brother-in-law
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6.

10.

PART-II
(Questions 6 — 15)

e 7 o1 It fawar ey Hg=or gomeh ot T8t 87 /

Which of the following is not the feature of a modern control system?

A. Tg! Tfad TR / Correct power level B. PIs <l 8! / No oscillation
C. @fa ufafear / Quick response D. gurfdr / Accuracy

U 3=, fAe=ror fRreew it fEreraar = 82 /

What is the characteristic of a good control system?

A. IRTtex R & vfa sRidg-=ie aft Ye HHis & Ul dde=ita /
Insensitive to the parameter variation but sensitive to the input commands

B. 71 al TRTteR fiysrar & ufa Yae=ha ik A €t 39Yc IS & Ufd Waga=hd /
Neither sensitive to parameter variations nor sensitive to input commands

C.g149c HUTS b Ufd SIS / Insensitive to the input command

D. TRrftex iz & ufd Yadga=iia / Sensitive to parameter variation

fFufafad # 3 o 91 g =ferd iz yormedt & Iuzi T8l feear siar g2 /

Which of the following elements is not used in an automatic control system?

A. 3{fcre 98501 9d / Final control element  B. ¥¥R / Sensor
C. 3TRIIER / Oscillator D. ﬁ%%@ﬁ/ Error detector

3Td el fharsli & dgd BTH B aTelt (HT=0T YuTTelt ot PETAIS! /

A control system working under unknown random actions is called

A. 3%t (A1 YUTTe! / Adaptive control system
B. Wb icd [0 YUITel! / Stochastic control system

C. DR YA YUt / Computer control system
D. f&fSTed ST vumet / Digital data system

frafeRad o & SF-91 3o o fHd=or yoreit 82 /

Which of the following is an open loop control system?

A. TTS foramTs gz / Ward Leonard control

B. ﬂE’I@TsFI/ Metadyne

C. @Eﬁ@ﬂq/ Stroboscope

D. Tics fdfAd S1.8. HieX / Field controlled D.C. motor
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11.

12.

13.

14.

15.

frafeRad o @ HH-31 Hy= ot of 5 qu vomelt & few gt 87/

Which of the following statements is correct for any closed loop system?

A. Qe e Ui | V Bae T b1 URIAT R-LIA AF ST /

Only one of the static error co-efficient has a finite non-zero value
B. gt W DI HIH A 8 T § / All the co-efficient can have zero value

C. gt IIGE LRl ﬁ?—?fq 81 € / All the co-efficient are always non-zero
D. AT / All of these

TH 3 a0 Ren & forw Ssfagy o usfa o gt anfeu? /

What should be the nature of bandwidth for a good control system?

A. BT / Small B. H¥H / Medium
C.d8l/ Large D. T Tt / All of these

Wisdd MU0 YUt &1 3M3eye P U HaRM gH1 A1y /

The output of the feedback control system must be a function of

A. 3l13cYc 3R Bga® Rird / Output and feedback signal
B.g14Yc IR B Rud / Input and feedback signal

C. ?i_cﬂ-fstfﬂ?:’/ Reference input

D. ¥ 33eye / Reference output

fRR fg=r0r yumelt & dpaw Fufeiad & 3 fhgewr SR 99 IHhdi 8?7 /

In a stable control system backlash can cause which of the following?

A. 3aRSFRAT / Overdamping

B. f9-TaR1 Qe / Low-level oscillations
C. 3{SISRIT / Underdamping

D. gl U @Y & HH ool IR BRI FRURT /

Poor stability at reduced values of open loop gain

TS =01 gt & e &1 $ideye = &1 fear Srarg: /

In a control system the output of the controller is given to:

A. THATBRR / Amplifier B. TR / Sensor
C. 3ifcr| (9801 e / Final control element  D. @A / Comparator
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PART-I

(Questions 1 - 05)

1. Identify the adjective phrase from the given sentence.
The letter from her mother about her health was emotional.
A. was emotional

B. from her mother about her health

C. from her mother

D. about her health

2. YA YR fead aR1ORR & oal AT faT 71 412 / When was Pravasi Bhartiya
Divas held in Varanasi?

A. 2017 B. 2015

C.2019 D. 2020

3. TEH SR T o7 9T SR 3R AT 3175 3R 3125 g1 IS TeAmaff &1 aiT 575
%Fﬁﬂ'@lﬁﬂﬁﬂ"ﬂml / The sum and difference of LCM and HCF is 3175 and 3125
respectively. If the sum of the numbers is 575. Find the numbers.

A. 375 3R 200 / 375 and 200 B. 225 3R 350 / 225 and 350

C. 325 3R 250 / 325 and 250 D. 400 3R 175 / 400 and 175

4. T FAfYd HI8 & "INSERT" &1 "GLQCPR" foraT SITaT 81 39 ®1e H "CREATE" ¥ ferar T
%? / In a certain code “INSERT” is written as “GLQCPR". How is "CREATE" written in that
code?

A. BWKXUA B. APCYRC

C. SHXHLH D. GWPNCV

5. IfS PIs cfdd MU= W T BT 6/77 TV I BT § < U AR G a0 B |
T GHY AT 99T 1 fard=T Uf=Id 82 / If a man travelled at 6/7 of his usual speed
the time taken by him to cover the usual distance is what percentage of the usual time
taken?

A. 116.6%

B. 133.3%

C. 166.6%

D. 200%
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PART-II

(Questions 6 — 15)

6. HRT YR IS 3R o T & fore b fafdy o1 SuiT fopar e g2 /
Which method is used to lift and move heavy loads?

A fdda / Winches

B. %1 3R f& / Crane and slings

C. IR 3R AT / Layers and Rollers

D. W@T@E’Cﬁﬁ/ Machine moving platforms

7. 3T g2 o GH &1 8? / What is smothering in extinguishing of fire?

A3 H é‘c‘ﬂ ENIGH / Adding the fuel element to the fire

B. AT é‘c‘ﬂ SIS HRAT / Removing the fuel element from the fire

C. ST &1 IYTNT dRab dTTH HH BT / Using of water to lower the temperature

D. 31 P SHieRite Bt &rrtﬁ@r SIS hRAT / Isolating the fire from the supply of oxygen

8. faggd Sumxur & @l 3% §g DIF A1 SiRRMHS YA {1 SITdT 82 / Which type of fire
extinguisher is used for fire on electrical equipment?

A. BdF PR / Halon type

B. AT YPIR / Foam type

C. %WW/ Gas cartridge type

D. Tufgd a1d UdR / Stored pressure type

9. %aﬁmﬁhswqmw%? / In the figure, what is the name of the wire joint?

A. ‘Iﬁ'@[%cl\_rﬁ_sf/Aerial tap joint

B. qﬁ%’%’q\?ﬁg/ Knotted tap joint

C. mﬁa?ﬂsﬁ—s/ Single cross tap joint
D. WHTTH%U@_S’/ Double cross tap joint
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10. o & uftnTa (UG) Faa B X' & =U | fIfgd T &1 A ST 82 / In the figure, what is

the name of the part marked as ‘X' in the underground (UG) cable?

A. Sf&T/ Bedding

B. G-I'Iffﬁ"T/ Armouring

C. I8 1Y / Lead sheath

D. BT pdIcich / Paper insulation

11. A & TR & 316 b H faba- 3aiae 81d 87 / How many electrons are there in
the valence shell of a copper atom?

A1 B.2

C.8 D. 18

12. AC Thd ol AN URTY & diecs UTd &I fdbTa- &1 I3 1 82 / What is the
formula to find voltage drop of an AC single phase wiring circuit?

A. dleeol UTd = IR dlee / Voltage drop = IR volt

B. diecol UTd = 12R dlee / Voltage drop = I2R volt

C. dieeS UTd = I/R diec / Voltage drop = I/R volt

D. dieesl UTd = IR/2 dleC / Voltage drop = IR/2 volt

13. 71U TR AT RATIAT BT GIE0T FH= & [T {5 SUSHRUT BT IUANT faat STl 62 /
Which instrument is used to test new domestic wiring installation?

A. GRTHICR / Multimeter

B. AR / Megger

C. R YR 319 HIeX / Shunt type ohmmeter

D. 90l UHR 319 Hiex / Series type ohmmeter
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14. 31 UfeRiy Tdterer o 4RT b o1 1Y T 8?2 / What is the function of current
reverser in earth resistance tester?

A. AC &1 DC H ufafedd W% / Converts AC into DC

B. DC &t ?:@TIT‘IT DI IAC AT 8 / Reverses the polarity of DC

C. DC TS BT AC TS H dI5adl & / Changes DC supply into AC supply

D. SR & ‘EI,_:JZI%[ &1 f=M P IAC ST § / Reverses the direction of rotation of the

generator

15. QIgehidd Wﬁmﬁﬁ?ﬁ@ﬁmﬁ%’ﬁm% / What is the magnetron
tube filament voltage used in microwave oven?

A 1.5d1 T/ 1.5V AC

B.2.0dI THI /2.0 V AC

C.30d T /3.0VAC

D.32d Wil /32 VAC
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PART-I

(Questions 1 - 05)

Identify the tense used in the following sentence:
| have been working on the problem.

A. Present Continuous B. Present Perfect Continuous
C. Past Perfect D. Past Continuous

. URIG YR G & A1 UR 4T 77 $RHE SdRef I HRd BT Ugdl SUUg oT; 39
T8 RE YR H g f&omz= iR Fftfa fasan mar o1 aut 19 i &1 HYRed IR ¥ Aifqaa
DIRHAI-3TH e GRT Y& foam T Tl /

The Aryabhata spacecraft, named after the famous Indian astronomer, was India's first
satellite; it was completely designed and fabricated in India and launched by a Soviet
Kosmos-3M rocket from Kapustin Yar on April 19.

A. 1925 B. 1985
C. 1975 D. 1945

. ﬁ%ﬂﬁ ‘BI:IIEE Wﬁl@"ﬂ? / Where will you find granite in Bihar?
A. HITTYR / Bhagalpur B. HSIWhRYR / Muzaffarpur
C.UcHr/ Patna D. 3T/ Agra

BRI &Wﬁﬁmﬁﬁﬂ\_ﬂ 87/ How many triangles are there in the given figure?

//\<\\ .

i \

A5 B.6

C.8 D. None of these

1st January, 1995 was a Sunday. What day of the week will 1st January, 1996 be?
A. Sunday B. Monday
C. Saturday D. Wednesday

43




PART-II

(Questions 6 — 15)

6. AL ﬁgﬁg% / The unit of illumination is:
A. TR / Amperes B. ?Iﬁﬂ/ Lumens
C. @ / Lux D. $Sdl / Candela

7. ST & forg YRR | diecsl/dee faRivard i gkt § /
Rectifier for welding has voltage/current characteristics also

A. R / static B. ORad-=Md / Variable
C.§i|ﬁ‘| / Drooping D. T3S/ Rising

8. Tfe fagyd sfia= 110 v HId § 2.2 A Wiadl &, Il STH AU Id BT YRy 1 gRTI? /

What is the resistance of the heating element in an electric oven if it draws 2.2 A from a
110 V source?

A.50Q B. 50 mQ
C.50 kQ D. 5 kQ

9. PHIa 37T IS & TR FAIRIS DI YATHS I ST oIl ©, <l /
During carbon arc welding of electrode is connected to positive, then
A. 31 Hg 81 ST / Arc will be dull
B. &ﬁ:lﬁm@'ﬂ/ Arc will not strike
C. %ﬂﬂw:ﬁf/ Metal will not melt
D. HTaH DI AT Siig & o &1 ugf gt/

Carbon will have tendency to go into the welding joint

10. P 1 foolel! BT FedhT Tad WaRAI® 8?2 / Which lightening stroke is most dangerous?
A. WWW@WW/ Direct stroke on line conductor
B. hadcy TR 3UE I / Indirect stroke on conductor
C. WE}I'UW@HTW/ Direct stroke on tower top
D. WWW@WW/ Direct stroke on ground wire

1. TR, WISl TeY 3! JREM U™ &d o /
H.R.C. fuses provide best protection against:
A. 3{IadIS / Overload B. k¥ ®<c / Reverse current
C. fig=-afde / Open-circuits D. RIT¢-Afdhe / Short-circuits

12, YHd aRelrs RS BT ITANT HIC B3GR HRe 9§91 & e fbar S g /
Thermal overload relays are used to protect the motor against over current due to
A. QITé-Tfde / short-circuits B. URI Al S / Heavy loads
C. U138 / Grounds D. 39 94 / All of these
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13. TR SRE Giche S BT IUNT forgeb forw fpar Siran g /

14.

15.

Air blast circuit breaker is used for

A. Rdics @ﬂ;cp[/ Repeated duty B. QTTéSil,_:cp[/ Short duty
C. 3exfide E'chﬂ / Intermittent duty  D. 3{IaR BT / Over currents

fafafea o Q@ 9 91 S T4 § / Which of the following statements is INCORRECT?
A. RF SRAT BT IUIRT hadt Rl Bl FaTierd B & ford T ST g/
Station batteries are used to operate relay only
B. T SRR U ¥U Y ol T SR SISuHdTS § /
The lightning arresters are basically surge A diverters JEMY
C. 5d el & T Whiee i1 & af fcare Rl § Sifiedd Wiee HRe idl g /
An impedance relay has maximum fault current when fault occurs near the relay

D. 815 Wie R & 1 2 Ieh) o1 GaTe gidl @ /

A high speed relay has an operation of 1 to 2 cycles

fFrafafad 5 & o1 91 SeaRM ey Ra &1 a0 78l 82 /

Which one of the following is NOT an example of Induction Type Relay?
A. SR $U Rd / Induction Cup Relays

B. Y Uld Rl / Shaded Pole Relays

C. Raiad=H Uid R / Relaxation Pole Relays

D. dTe-4¢ Hlex el / Watt-Hour meter relays
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PART-I

(Questions 1 — 05)

1. Choose the correct question tag among the options.

It's very cold, ?
A isit B. does it
C. doesn't it D.isn'tit

2. R Hed H 8 U8 S IT3? / What is the green planet in the solar system?

A. 57T / Mars B. gAY / QX1

C. X[ / Venus D. Qdt / Earth

3. U& Afad 120 ¥ AR GHRIAD YUifch! DI 0T HAT e Bl 6| 4 LI BT RO
WW%%@G@WW&G&WWW? / A person starts multiplying
consecutive positive integers from 120. How many numbers should he multiply before he
will have a result of 4 zeroes?

A.6 B. 10

C. 11 D.5

4. T AT B8 & "MATRIX" BT "P7WULA” feraT ST 81 9 P18 & “ARRAY" B ferar
TRJT%? / In a certain code "M4TR1X" is written as "P7WU4A". How is "ARR4Y" written in
that code?

A. F1D8R B. X8KVS

C.DuuU7B D. EARANY

5.p:q:r ! A BT AIAA 6: 7 : 8 §1 3P gRI o1l T YHY HT 3UTd 1 HIfo |
/ The ratio of speeds of p: q:ris6:7:8. Find the ratio of their time taken.
A.21:24:28 B.28:24:21

C.12:14:18 D.18:14:12
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PART-II

(Questions 6 — 15)

6. 370 O B 1 URIfeH 37 &1 g o 8 qher 87 /

Which of the mentioned can also be a formula of acetic acid?
A. CH40, B. C,H,0;
C. CH,0, D. CsH,O

7. TR =eoT & fore guR wifshar & Fufafad i & 'x 182 / What is ‘X in the

following figure of reforming process for gas synthesis?

CO +H,gas —’< A 0,

A. FRa=dTel / Absorber

B. §UR j-IEQT / Reforming furnace

C. 5d 719 RIye H-1ac? / Water gas shift converter
D. @\'QT/ Stripper

8. JUIdTE eI TRTS It B I Tt ge-T JMAS 82 / Which phenomena is
involved in the byproduct sulfuric acid production?

A. HIfeTeh e @ / Elemental sulfur mining

B. 3TGIHRUI-SHHT / Oxidation-reduction

C. Uiz &l URRITIRNT / Pyrolysis of pyrites

D. E‘E‘EHEIO"[\_SIFHT/ Burning of fuel

9. WW%WﬁWWWWW% / What is the sequence of steps
involved in the manufacture of carbon fiber?

A. XAaH - HTAMTZOIRM - FBTZETZIRMA / Cooling - Carbonization - Graphitization
B. UMM CTSOIRM - HIAMISSIRI - BICHT / Graphitization - Carbonization - Cooling

C. BIfET - HIFIZOIRM - YHIICISOIRM / Heating - Carbonization - Graphitization

D. TMHCTIOIRM - HIAAZOIR - BT / Graphitization - Carbonization - Heating
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10. ¥ T & J FHIEHH IUGT DI UM B | / Identify the organic chemical from the

mentioned.
A. &SI / Benzene B. Rifeidh e / Silicates
C. T &Ral § / Aluminates D. TR / Sulphur

11. 98 THM R T It &t e IR A 395 T &1 82 / Which of the
mentioned is the simplest method of producing ethylene on large scale?

A. 39 Pt YU b / Thermal cracking of ethane

B. TRYelH TS S 1 SIS / Deoxidation of ethylene oxide

C. 's’a:ﬁﬂ CANERNIERL / Dehydration of ethanol

D. qfim H@Tﬁg Gai Tsp[%@ﬁlﬁ"\’ﬂ/ Dehalogenation of ethyl chloride

12. FafiRad & © fra IoR® &1 IuanT Ridfes 3T daR &= H fosdn Sirdt g2 (dfosan
E@Fﬂ‘[ﬁﬁlﬂtﬁﬁq%) / Which of the mentioned catalyst is used in preparation of
synthetic ethanol? (Process is hydration of ethylene)

A. SR®IIH / Zirconium

B. WIfe=1H / Platinum

C. @Ic'llsc R BIRBING QI%IS / Phosphoric acid on celite
D. fiferT IR wIepiRe TRIS / Phosphoric acid on silica

13. GiTARTSSIRA & forg fafafed & © o1 9t fafyr 9ed sifres Iudivy &t &l 82 / Which
of the following is the most used method for polymerization?

A. Wm/ Bulk polymerization

B. Wﬂﬂm/ Solution polymerization

C. QHRH dl?‘lﬂ?l%@% / Emulsion polymerization
D. TUT YIRS / Suspension polymerization

14. "UfehaT & R Ried & Y% A aTcl Hd SHoll 3R Y & Red Bie- & od SHoll
& IR ST AN YATSTAIHNRT BT oI 1 F499 82 / “Total energy of system entering
plus addition during process must equal to total energy of the system leaving” is which
law of thermodynamics?

A. Ugcll DI / First Law

B. @RI I/ Second Law
C. dIeR1 8 / Third Law

D. 3?13[ @[ﬁ'sc T8l / None of these
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15. fFafaiea ufafssar &1 T9T 9 T 8?2 / What is the overall order of the following
reaction?
aA + bB — R; ch/ dt=k. CAm. CBn

Aa+b
B.m+n
C.1
D.2
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PART-I

(Questions 1 - 05)

Choose the correct form of the verb: "She to the parlour yesterday."
A.go B. went
C. going D. gone
. 39 @1 WIS [ D17 / Who discovered Proton?
A. SIF STee / John Dolton B. 3% Y&XWI8/ Ernest Rutherford
C. S ISfAS / James Chadwick D. SIS, U199 / J. J.Thomson

TP T-20 & UBH 10 3R} H T ¥ had 3.2 UT| 282 31 & A&7 d% Uga & fold AY 40
ahaﬁﬁwifwmm%w / In the first 10 overs of a T-20, the run rate was only 3.2.
What should be the run rate in the remaining 40 overs to reach the target of 282 runs?
A. 6.25 B.5.55
C.2.03 D.4.30

20 T3t T 3 Y B 1 70 I by fobd-t Tt I | 1<) 81 Gebell 87 / The
average of 20 numbers is zero. Of them, at the most, how many may be greater than
zero?

A.0 B.
C.10 D.
. TP TSP B! dR BT 3R SR B §Y ARE A HeT, "I T Ul P 3P 9 BT Iergl”
WWWW@WW%’? / Pointing to a photograph of a boy Mahendra said, "He
is the son of the only son of my mother." How is Mahendra related to that boy?

A. 3—IT$c/ Brother B. 3{hd / Uncle
C. @9 / Cousin D. fUdT / Father

1
19
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PART-II

(Questions 6 — 15)

6. TUSHIA Bl 3R FTHed 82 / A goitre is also called as?
A. SIFB I / Bronchocele B. WTH / Larynx
C. TufaRel AT/ autoimmune disease D. ¥ / inflammation

7. Trofafed & O o9 Ot g fosiel & Seal & fhartic & fou va iftfe IuANT &1 it 87 /
Which of the following metals is mostly used for filaments of electric bulbs?
A. didT / Copper
B. Tl / Silver
C. e / Nickel
D. €TRc / Tungsten

8. fop! aram gad Hsa dvsTaTrf (QCQ) %Q STd %'/ Sales invoices are first entered in:
A. %QTW/ The Cash Book B. WRIG S / The Purchases Journal
C. WW/The Sales Journal D. W@ﬂ?ﬂ/ The Sales Account

9. 3RS & Hdl BIH &1 82 / What is full form of RBI?

A. RRpTd S 31T 3f&aT / Recall Bank of India

B. NoRAIIR §& 3MTh Sf$AT / Reservoir bank of India
C. R¢wM d% 3iF f$aT/ Retention bank of India
D. to1d d 31T Ef$TT / Reserve bank of India

10. e dredert gromos fg yenfa 3 Tefea g2 / st Petersburg Declaration’ is associated
with which species?
A. ﬁ‘dg%mmz—s‘/ Great Indian Bustard
B. dd / Tiger
C.qR / Lion
D. Wﬂ%’qﬂ@/ Honey Bee

11. %ﬁ?l%‘c’ Gﬁ?ﬁﬁ?l'{c’ _ %"I / Haematite & Magnetite are ____.
A. ?ﬁ's’ HYIDH / Iron Ores
B. AT 3/4%h / Copper Ores
C. HTT 3 / Manganese Ores
D. [Sf& 3/ / Zinc Ores
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12. AT Ol O Ugdd HTHT &1 WRA §9H & Ie=9 ¥ [T TRIT A T IAfd o R 17 /

Which institution established a committee with the purpose of simplifying the language
used in insurance policies?

A. 3RS / RBI

B. Hifc AN / NITI Aayog
C. 3MS ARSI / IRDAI
D. YlUB3REIT / PFRDA

13. 6Eskai WMWWWWWWW% / Eskai is a new Chatbot launched

14.

15.

by which company?

A. éW/TesIa
B. 3f& / IndiGo
C. QERé('I / Airtel

D. 3131#1111”3?/ Adani Power

frafofed & 9 &F a1 o fodt 990 & o IR 7w & &9 o I fasan S g, o o

SHATHI? / Which of the following values is used as a summary measure for a sample,
such as a sample mean?

A. ST TRTHER / Population parameter
B. HHAT IR / Sample parameter
C.qHA it / Sample statistic

D. SIFRIAT HIEH / Population mean

ﬁ'ﬁ%@ﬂﬁ@@@?ﬁ%%ﬁ e B A? / Who among the following was the first

chairman of UPSC?

A. WQ‘I\’GW/ Sir Ross Barker

B. méﬁgﬁa / Sir David Petrie

C. W AR TS / Sir Eyre Gorden

D. X Uh. s, NERRE / Sir F.W. Robertson
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PART-I

(Questions 1 - 05)

. The company's profits were low, and they were forced to staff.

A. lisp off B. lay off
C. lay on D. lie on

. fay o e ufex m%m & / The author of world-famous Harry Potter series is
A. 3r54fd g

B. ST & AI3feT / K Rowling

C. QT ¥R / Taslima Nasrin

D. IHM ¥=dI / Salman Rushdie

. Fufafed R gl & ¥ 0F T T 0 3 99 € iR T 3reT 8| favH Wsg &1 T

®X| / Three of the following four words are alike in a certain way and one is different.
Select the odd one.

A. T / Goggles

B. TRHT / Spectacles

C. SIgWI%hd / Bifocals
D. 3P a e / Optical Reader

. TP TSP B! dR BT 3R IRT B U & A 7 Pgl, “d8 A1 Af & balld o I JeT 8"
%ﬁﬂﬂﬁ@ﬂﬁ@ﬂﬂ’d’ﬂ%? / Pointing to a photograph of a boy Mr. Ram said, "He
is the son of the only son of my mother.” How is Mr. Ram related to that boy?

A. Q-I'I'sc/ Brother B. dIdT / Uncle
C. ﬁ?ﬂ/ Father D. TeRT 3-IT$C/ Cousin brother

Hfas 7 ford a8 &7 PHelex 2009 F THME &1 EFI? / Which year in the future will have the

same calendar exactly as 2009?
A. 2010 B. 2015
C. 2018 D. 2013
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6.

10.

PART-II

(Questions 6 — 15)

WWWWﬁ@WWW% / Infectious mononucleosis is
caused by which of the following?

A. TECIHTTA! arRy / Cytomegalovirus

B. aﬂa-%ﬁﬁr%a?m / Beta-hemolytic Streptococcus

C. Q'CI@?—EHT dIaRy / Epstein-Barr virus

D. mmm/ Herpes simplex virus

T Uep U UTeeh 1 ST B I8! & R SR H A1 ST & o a8 urdes Tiferar @ fifgd 21
T 1 39 cafaa & 1 Tohd 3R wer foras ot gwfie gt /
A EFGﬁQI%ITI/ Easy bruising
B. AIYI-Tel Si1Y / Beefy-red tongue
C. au-aﬁq?arﬂa?waaﬁ/ Fine red rash on the extremities

D. Qﬂ?ﬁ/ Pruritus

THR Y Hfed T P 3T IGT ABYUH P frd TR | 3mara? /

Isolation of a child with measles belongs to what level of prevention?

A. T / Primary B. M1 / Secondary
C. SIHITSTE / Intermediate D. Jalddh / Tertiary
frafafad o @ o & 9 gar J Herdt 22 /

Which of the following diseases is airborne?
A. IR dhoifdedrsicd / Viral conjunctivitis

B. THC U8 arsicd / Acute poliomyelitis
c. feudifar/ Diphtheria
D. 9IRT / Measles

Fafafed # 9 319 A fRUfd grsed g1 &1 SR o Favdl 87 /
Which of the following conditions can cause a hiatal hernia?
A. s’a&hﬁaaaﬁﬁq@/ Increased intrathoracic pressure
B. THIhforgd AIUfRR &t HHSIRT / Weakness of the esophageal muscle
C. Q@WW%Wﬁ?{@/ Increased esophageal muscle pressure
D. SIS HIUR[AS & HHSIRT / Weakness of the diaphragmatic muscle
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11.

TR FT TG Tohd PIRID Wic g1 3T HIRHD Wic BT 7 1 e a=d 3@
JHd §: / The pathognomonic sign of measles is Koplik's spot. You may see Koplik's spot
by inspecting the:

A. wﬁaﬁw%ﬁr/ Nasal Mucosa

B. a@aﬁ@w%@ﬁ/ Buccal mucosa

C. U< &1 &4/ Skin on the abdomen

D. Pl & Ul ! dg U &@dT / Skin on the antecubital surface

12. S 1 EIhTHRUl VIR T2 Vg1 Hra1 8?2 /

Which immunization produces a permanent scar?

A. SIUIct/ DPT

B. ®I¥flSit / BCG

C. WIRT EIBTIHRT / Measles vaccination

D. BUcSfey &t EIHTHRUT / Hepatitis B vaccination

13. TH P 6 e & 9 DI IM SIGRM T | SHD OIE T SUGad S8 DI A1 87 / The

14.

15.

nurse is to administer an IM injection to a 6-month-old child. What is the most appropriate site
to use?

A. IRICY ACRIAY / Vastus lateralis
B. t{@ﬁﬂﬁﬂﬂ/ Dorsal gluteal

C. a_cjﬂ’ﬁ@tlﬁ / Ventral gluteal

D. SferITd $hee / lliac crest

T 7 T dH-1h BT SUUNT HRP 3RA ol 81 Z ¢ b T I TR & BT T HRUT
FIT 82 / The nurse administers iron using the Z track technique. What is the primary
reason for administering iron via Z track?

A. WQ@WﬁHﬁW%W/ To prevent adverse reactions

B. WWWW@W%%’Q/ To prevent staining of the skin

C. WRﬁﬁWW%%’Q/ To improve the absorption rate

D. Wﬁaﬁwmaﬁwﬁaﬁ%%u/ To increase the speed of onset of action

T @ cq\qigplr(\*ﬁ f&p1 ¢ &1 ¢ | B UfehaT T 82 / The nurse is to administer a
tuberculin skin test. What is the correct procedure?
A J g & el g HaAg A A</
Give it subcutaneously in the inner aspect of the forearm.
B. 21-TI9 1 g3 P WA B 3R qig & A | /
Use a 21-gauge needle and administer in the forearm.
C. 9 §7g I dieRk ¥adg W 10 EM b B w g1/
Give it at a 10-degree angle in the volar surface of the arm.
D. 38 SUI di5 # @1 & 3fax Y TR | /

Administer it intradermally in the upper arm.
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PART-I

(Questions 1 - 05)

Select the grammatically correct sentence.

A. He ate the sweets greedy. B. | could not find it anywhere.
C. I haven't got none. D. He is much weak.
. o Y 3t A AR 6 IR X sivie URT fohary

Which Railway Minister presented the railway budget 6 times in a row?

A \_rff:ff[%q;ﬁ/ John Mathai B. dI¢] U¥Tq YTad/ Lalu Prasad Yadav
C. :ﬁFﬁ"\’[W/ Nitish Kumar  D. HHAT §-911 / Mamata Banerjee

31 SFaRY 2007 W8 HT I T &7 UT? / What day of the week was 31 January 2007?
A. IIHdR / Monday B. HICTAR / Tuesday
C.7[¥dR / Thursday D. gYUdIR / Wednesday

. TfE 5 Y Ugal IS B 3T ST Bt 31 B Ub-faets ff RIS B 3 3@ 17 I8 B,
G B 3 39 fa-t g2/ If Raj was one-third as old as Rahim 5 years back and Raj is 17
years old now, How old is Rahim now?

A. 36 B. 48

C. 40 D. 41

A can do a piece of work in 4 hours; B and C can do it in 3 hours. Aand Ccando itin 2
hours. How long will B alone take to do it?

A. 10 hours B. 12 hours

C. 8 hours D. 24 hours
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PART-II

(Questions 6 — 15)

6. geriia yofadl & fpeht AT TR Pt 0T ITd HA Bt &1 Bl T Hed 87/

The capacity of a given strain of microbial species to produce disease is known as:

A. TS / Pathogen
B. fawTadd / Virulence
C. GhHUT / Infection

D. 3dRddT / Mutation

7. FEfiRad & 9 &9 91 Sl 4 &R 31 907t & 31a1 82 /
Which one of the following comes under the category of oleaginous bases?
A. 3 ddT / wool fat
B. Ra tRIfth / liquid paraffin
C. ¥3Idl % / hydrous wool fat
D. 991 H1H / bees wax

8. B-FUIEH, ATt U & @ad], siwiefea &7 & fasrtoa grar g/
B-Carotene, precursor of vitamin A, is oxidatively cleaved by:
A B—ﬁéﬁ as&ﬁa%ﬁ%ﬁﬁr/ B-Carotene dioxygenase
B. fTaRitoTIol / Oxygenase

C. EEET%‘GI@IG[/ Hydroxylase
D. TSl / Transferase

0. %ﬁfﬁﬂfﬂﬁ%%/ Lubricant used in tablet formulation for
A. escie B gt sraual B R A1/ to lubricate all ingredient in the tablet

B. S5 & Idg &7 § cqaic AUt & 3G &I A+ /
prevent adhesion of tablet material to surface area of dies

C. R-HU IYUI DI HH BT, YT i &X H YR HRAT /
reduce interparticle friction, improve rate of flow

D. A 3R B GIHl/ both A&B

10. Aoier Sty ford faeTfem 1 et 3 Ui et &/

Magenta tongue is found in the deficiency of the vitamin
A. TSSITRITS/ Riboflavin
B. YA/ Thiamin
c. FaifeR® TRrs/ Nicotinic acid
D. UsRSIfd/ Pyridoxine
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11.

12.

13.

14.

15.

T 37 SaTet H e S § o g R R gy
Pellagra occurs in population dependent on:

A. T8/ Wheat

B. dTdd/ Rice

C. HdhI/ Maize

D. ¢4/ Milk

e RS 39 for faetfiq &t ot & fore U fasmia wmes |/
"Xanthurenic acid index'’ is a reliable criterion for the deficiency of the vitamin

A. UE&@W/ Pyridoxal

B. YA / Thiamin

C. ¥a13fA® TS/ Pantothenic acid
D. ﬁaﬁﬂﬁﬂ/ Cobalamin

O§ 3{S UHTT SITd & / When eggs are cooked
A. SR Y 81 SiraT § <ifdb wfafe smifaa e 8/
Biotin is destroyed but avidin remains unaffected

B. UfafE FAfspa 81 Wi @ Qi Srifes smifad Tear o/

Avidin is inactivated but biotin remains unaffected

C. Qlalé:l eﬁw@ﬁqﬁﬁ@me‘rwﬁ%/ Both avidin and biotin are inactivated
D. qlaléa G?ITETCﬁﬁ:[ﬁ G{Qﬁ'—ﬂﬁﬁﬁ?f%/ Both avidin and biotin remain unaffected

e T & g8+t HET SI1d1 8: / Green chemistry is also called as
A. SitaT TITTA / Life chemistry

B. ®T&d WA / Organic chemistry

C. YYRUIY ™R / Sustainable chemistry

D. T4TaRTT XA / Environmental chemistry

YTIfEA B} HH B SR o R T HIRP g9 & Fufeiad aifie &t gigar 9g St

e/ During deficiency of thiamine the concentration of the following compound rises in

blood and intracellular fluid:

A. TIPS/ Glycogen

B. ]I / Sugar

C. 3 3f%T / Amino acids
D. UIg3{deh 3% / Pyruvic acid
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PART-I

(Questions 1 — 05)

1. Select the idiom which means ‘to retract your statements'.
A. to eat your words B. put up
C. not worth his salt D. to take stock of

2. YR forarsd WeNfiie! & SHe ©IF 82/ Who is the father of Indian missile
technology?

A. ST Eﬂ'ﬁﬂ HTHT / Dr. Homi Bhabha

B. SI. fIG¥RH / Dr. Chidambaram

C. 1.9, 3R.30d/ Dr. U. R. Rao

D. 1. T 1. O, 3fsgdl HAM / Dr. A. P. J. Abdul Kalam

3.5 + [x - 2] = 2 H x &b JYIfAT U= T J1d BTN / Find the possible integral values of
xinx*+[x-2]=2.

A1 B. -1

C.-Tor0 D.1or0

4 KADIATHI TGTBIGARI Q D B 31 7, O G BT AT 8 SR A BTG P, H BT A 7
KBl 81 D, HH A 3R G, LFBTUI I P, G U fhd TR Waifda g7/

K is the son of A’s mother’s sister. Q is daughter of D, who is the father of G and
grandfather of A. P is the daughter of H who is grandmother of K. D is husband of H and
G is husband of L. How is P related to G?

A. HIdl/ Mother B. ofg / Sister
c.q§cl/ Daughter D. TRT TS / Cousin

5. 8 TR 2008 HI WHAR UTI 8 fAHER 2004 Y ®IF AT & UT? / It was Monday on
December 8, 2008. What was the day on December 8, 2004?

A. TT%dR / Thursday B. §YdIR / Wednesday

C. gehdR / Friday D. YHAR / Saturday
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PART-II

(Questions 6 — 15)

6. 7o fopufef i & RuRur ot sifdeier faftmr fopufefm sik ot ufafear R
3T %I / Most methods for the determination of blood creatinine are based on the
reaction of creatinine and

A. IeHRIRS TRTS / sulfuric acid
B. &R fighe / alkaline picrate

C. tRife® UdgISSISS / acetic anhydride
D. mﬁwg@wrg@:/ ammonium hydroxide

7. Ui SRITHRIT 1 300 He & forg fgferiad o ¥ foey fafer &1 g fovan s g

87 / Which one of the following methods could be used to study protein abnormality?
A. TSI aquwul%idmd / Isoenzyme electrophoresis

B. W@H@W / Immunoelectrophoresis
c. dfAfferamagA-3uaia Fﬂmﬁm/ Electrophoresis of penicilliamine-

treated serum
D. I&d &1 faufurge &1 31994 / Blood viscosity studies

8. Qfsad frads I@R@d & fae fSER §: / Sodium is responsible for the maintenance
of:

A. Xad SHIAC / Blood coagulation

B. YRR & IR UaTdl T SHHICH &a1d / Osmotic pressure of body fluids

C. §ad & AIGURAS ¥ "aH / Cardiac muscle contractions

D. e BT Ha / Salt intake

9. FafaRad gHraifen Mo faftrl & 9 feae! RipRe Sex—ma HHcl R faated
TIRERT WY 3R AR HH! BR fGa-dhd daRes] T ead gRI HI Sl 87 / Which
one of the following hemoglobin determination methods is recommended by the
International Committee for Clinical Laboratory Standards and the National Committee
for Clinical Laboratory Standards?

A. SR e / Oxyhemoglobin

B. YehIgHRAS / Sulfhaemoglobin

C. Ucgrardlfad / Methemoglobin

D. IrgHAARAI S / Cyanmethaemoglobin
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10. XA Ud TUHT HRd THY, SYHIR WaTerd Jdl TTUFT SUBRU / When performing
automated cell counts, most automated cell counted instruments:

A. TRYUNTZCH & 1Y Yfaerics ATd Yad PIRIBISH DI UM HX / Count nucleated red
blood cells with erythrocytes

B. @?ﬁt}fésmqq%ﬁ%gwwﬁﬁmaﬁﬁﬁﬂ?ﬁﬁ/ Count nucleated red blood
cells with platelets

C. wﬁm%mnqﬁ@%@wwﬁmsﬁaﬁmaﬁ/ Count nucleated red
blood cells with leukocytes

D. 3hr9'<cb{i0k1 dTet Yard BIRIBI3H BT T 7 B / Do not count nucleated red blood cells

11. WS WA 59 & A} H URe-TRsd IGadHTd Uebe BIdT §: / Cerebral spinal fluid

patients with post-cerebral hemorrhage appears:

A (?""I_Gﬂ:l)/ Clear (colorless)

B. &= oflcl / Bright red

C. g Ut a1 @ & [ DI/ Light yellow or straw colored
D. &1/ Green

12. TIH I HT UE q9 81 obdl § oId H-G3d gHIC ohe RuRur & uar 9aar 8: /
Leukemia may be suspected when a manual hematocrit determination reveals:
A. BEITIRIT / Hemolysis

B. 3TSac R WISH / Icteric plasma

C. WWW/A high hematocrit

D. U YRl 90! Pl / A heavy buffy coat

13. 8-9d I &I 39 g SUYdd 8: / Hansel's stain is appropriate for:
A. QWWWW/ Circulating eosinophiles

B. BRINITSIC® eIfthdl / Phagocytic neutrophils

C. 3@%@3@%@%%%/ Nasal secretion for eosinophiles
D. 3¢ P 31 & oRd Uard H gHNIEed / Leukocytes in spinal fluid

14.Wﬁwuﬁm$mmﬁm¢ﬂmﬁw% / The quantity of
inactivated serum used for qualitative VDRL test is:

A. 0.02 THUT / 0.02 mL B. 0.05 WHT / 0.05 mL
C.0.10 THU / 0.10 mL D. 0.15 YHTT / 0.15 mL
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15. ABO GRITIHH & ey ST § Wit Rigia &1 Tunfera & &1 97 {6 far s g2
/ Who is credited with processing the most readily acceptable theory of ABO
inheritance?

A. dR / Weiner B. X MR / Landsteiner
C. AfaT / Levine D. % / Bernstein
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PART-I

(Questions 1 - 05)

1. Select the option which punctuates the below sentence correctly.
Im looking for the key she said.

A. 'I'm looking for the key’, she said.

B. “Im looking for the key”, she said.

C. "I'm looking for the key”, she said.

D. “I'm looking for the key” she said.

2. Waﬁﬂaﬁw:ﬁﬂﬁ?@% / The cleanest river in India is:
A. mﬁﬂ?ﬁ W/ Cauvery River, Karnataka

B. SHNC AIc, AeTerd / Umngot River, Meghalaya

C. HEHd! A1at, 3SR/ Mahanadi River, Odisha

D. W:IEQT HERIY / Krishna River, Maharashtra

3. fordt e 61 20% 12 B, I WS BT 35% 1 BIC| / 20% of a number is 12, find
35% of the same number.

A. 21 B.18

C.19 D. 17

4. 98 I8! fadbed ¢¢ ot Uy g &1 RIM I / Find the CORRECT alternative which will

replace the question mark.

3 20 42

15]101| 2 22 |19 |16 21| ? |37

A7 B. 25
C.4 D. 59
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5. A 1 30T 2019 B T HUA! H 50,000 YT HT 3% faram| B 1 30a 2019 HI 25,000
FUY 3R 1 fFLER 2019 BT 25,000 U HT 3= fawa | afe 31 AR 2020 HT Y 25,200
FUY T, A1 B &1 fgRT A0 B | / A invested 50,000 in a company on 1%t of April 2019. B
invested 25,000 on 1° of April 2019 and 25,000 on 1** of October 2019. If on 31* March
2020 the profit was 25,200 rupees, find the share of B.

A.*% 10,800/ Rs. 10,800 B.¥ 12,600 / Rs. 12,600
C.% 11,200 / Rs. 11,200 D.*® 10,220/ Rs. 10,220
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PART-II

(Questions 6 — 15)

6. TRI-X e 's’a?@'\f:ﬁﬁ IR frar ¥ IAT A | / X-ray photons are produced by
the interaction of electrons with:

A. EﬁE'F-[/ Protons

B. :8@’7-[/ Neutrons
C. Q"—ilS ‘H]TFJF[/ The anode material

D. 3 E@IT:E:IJT-[ / Other electrons

7. Fafefed # 9 foa Ry & Ifad Fam & g Teiiis Te-X el &1 saxgedi gl
Jhdll 82 / Which of the following conditions may require multiple X-ray views for proper

diagnosis?
A. YT / Fractures B. Cbhb\% T HBHUT / Lung Infection
C. a1d T / Arthritis D. gEt3Ms / UTI

8. frgforiaa o & @ w1 uard ¥eg FJ_@I'E 8? / Which of the following materials is

radiolucent?

A.B@/ Bone B.dIg / Air
C. 7 AT/ Lead D. YTd WARIYUT / Metal Implants

9. Td THY I TaY-X & 1Y HTH 63 BT T SIRIH §: / The major risk of working with
X-rays over long periods is:

A. ARIURET &1 YT / Muscle Fatigue

B. dgXIU4 / Hearing Loss

C. fafevur - 9fd H¥R / Radiation - Induced Cancer

D. eamﬂ%rﬁq@/ Increased Heart Rate

10. W-%Wﬁaﬂﬁﬂama‘&mw%? / What is the purpose of a collimator in X-
ray equipment?

A. W—% T BT MMHR §|'c.!'l'\lfr / Increase the size of the X-ray beam

B. QEI'\E[—Q' R0 R By B / Focus the X-ray beam

C. Qaﬂtﬁ\_ﬂw E?H@ﬁlﬁaﬁ / Limit the area of exposure

D. Q?ﬂf—% oo ﬁ'@%/ Scatter the X-ray beam
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11. TR Jd B BIF-IT HFT G IUF HR P oI STRERR 82 / Which part of the X-
ray tube is responsible for producing electrons?

A. TS / Cathode B. THIS / Anode

C. foame / Filament D. PR / Collimator

12. E’%’Eﬁ @1 TRI-X Bfagi, Tthe fETs <l § ifd: / X-ray images of bones appear white
because:

A. 6’%’&7 3P TFI-Y SHINT FHRAT § / Bones absorb more X-rays

B. E@TI\TVQW—ZQ & Ufafafad &l € / Bones reflect X-rays

C. gl U ST <l § / Bones emit light

D. EETI\TVW—ZQ o 1Y TRER fohaT 76T dall / Bones do not interact with X-rays

13. Fafafed & @ ®F-91 sieffa dabrat o1 fexan J81 82 / Which of the following is NOT a

part of the axial skeleton?

A. @Tﬁﬁ/ Skull B. %/Vertebral Column
C. %01 / Pelvis D. THIerdl / Ribs

14. Fgfafed & 9 ®F fFaa Wﬁ?@ﬁ%” / Which of the following is NOT a bone in
the lower limb?

A. fefem / Tibia B. BIAR / Femur

C. ®YHYY / Humerus D. Ucdl / Patella

15. fFafified & @ &9 Ta-X SARHT Bt U T 82 / Which of the following is a
limitation of X-ray imaging?

A. 3= fafdhR01 RIS / High radiation dose

B. WR[d RH SHdd o'hgl%c / Poor soft tissue contrast

C. 23! Bfadl d% WA / Limited to 2D images

D. 39 9d / All of these
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PART-I

(Questions 1 - 05)

1. Select the proper noun present in the sentence below.
Michael was known for his brilliance in academics.

A. michael B. brilliance
C. academics D. known

2. GRTOR GREPR S aTdl Ugel HRd & 67 /
Who is the first Indian to have won the Pulitzer Prize?

A. Tiifsig fogRY @1 / Gobind Behari Lal
B. TufPET Hicrdr / Sanghamitra Kalita

C. 1 difgsl / Jhumpa Lahiri
D. ‘:ﬁFﬂ 3{F< / Geeta Anand

3. 20 3{TGH! U HIH &1 50 i & B IHhd g1 5 & & 70 ot gR1 forw 714 1 6t 7
A BTN / 20 men can do a piece of work in 50 days. Find the amount of work done
by 70 men in 5 days.

A. 25% B.35%
C. 45% D. 55%
4. ¥ad I 31 98t f[adbey ¥ Wi |

‘Jﬁﬂ:(fa'ﬂ = pT ;

Fill in the blank with the CORRECT option.

Greece : Athens :: Kenya :

A. ¥ / London B. ﬁﬁa"r/ Nairobi
C. URESH / Amsterdam D. Ul / Prague

5. Tfe b URTA &1 1/8% YT HIa §, Y BT 1/47 YT e § 3R AW 5.25 JH T8, <
ORI &1 $ot @dTs A1 BT / If 1/8" of a pencil is black, 1/4™ of the remaining is white
and the remaining 5.25 cm is grey, find the total length of the pencil.

A. 69t / 6 cm B. 129 /12 cm

C. 109t /10 cm D. 8 9Ht /8 cm
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PART-II
(Questions 6 — 15)

6. IRToRT B IUANT fort ST aTdt geaRiT o1 RSAleU= &1 82 / What is the resolution of
the microscopes used in neurosurgery?
A 1Tpum B.1Tnm

C.1Am D.1pm

7. o T e STER 3T IS & fore o qraenfar skt St 82 / What are all precautions
taken for a patient directly out of surgery?

A. TIC, Yo THd 718! 81H1 A8T / The injury should not be infected

B. Afad I A 3aT &1 AM6T / The person must take a bath

C. Xa&Id1d %HH g1 I8¢ / The blood pressure should go down

D. WWWE@Q/ The blood sugar should go up

8. 3f1cT H fohc=T dTaHT 3R STl §HTY X! Sl 87 / What are the temperature and
humidity maintained in an OT?

A.T =20 -26°C, H = 20% - 30% g faf g = 7 - 8 Ufd €T/ T = 20 - 26°C, H = 20% -
30% air exchanges = 7 - 8 per hour

B.T = 18- 22°C, H = 40% - 50% d1g fafm = 10 - 12 ufd €T/ T = 18 - 22°C, H = 40% -
50% air exchanges = 10 - 12 per hour

C.T=10-12°C, H = 10% - 30% ag fama = 9 - 1o ufd €er/ T = 10 - 12°C, H = 10% -
30% air exchanges = 9 - 10 per hour

D.T =30 - 35°C, H = 50% - 60% d1g fafed = 15 - 20 Ufd €T/ T = 30 - 35°C, H = 50% -
60% air exchanges = 15 - 20 per hour

9. 31t & fh TR & A8 ASIE 8?7 / What kind of lights exists in the OT?
A. TARIEC AT / Fluorescent Lamps
B. Tei$ Sl @18 / LED Lights

C. TR dIg¢ / Tungsten Light

D. TeRiTSt / LCD
10. TR fdeR W%ﬂﬁﬁq@ﬁﬁ'ﬁﬁﬁﬁ:{@ﬁ%ﬁ Before reaching the operation

theatre, how many zones exist?|
A1 B.3
C.5 D.7
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11. 3T 2eft B AR WR o1 AiS[E giaT |7 i. ufear ii. gfFaret gand iii. A iv.
RS v Ww ST vii. HeX / What is all usually present in an OT trolley? i.
Bandages ii. Basic Medicines iii. Disinfectants iv. Antiseptic v. Cannula vi. Syringe vii.
Catheter

A. i, i, i, iv B. i, i, iii, iv, v, vi, vii

C. i, ii, v, v D. iii, iv, vi, vii

12. ﬁlﬁv_(\‘:lTaTﬁﬁﬁ@fW WW%? / What is the ratio of the gases in medical air?
A. 78% :ITE"@\—IFT, 21% IS / 78% Nitrogen, 21% oxygen

B. 75% 3fiaRiTol, 25% HTe SI3RIZS / 75% Oxygen, 25% Carbon dioxide

C. 60% IO, 20% SfiaTo, 20% HIa SIHIRIZS / 60% Nitrogen, 20% Oxygen,
20% Carbon Dioxide

D. 50% :HE_@GF[ 50% S{TeRITSH / 50% Nitrogen, 50% Oxygen

13. 31t T UTT ST aTd T USRI 1 872

i) 31 Tat ii) BTE @ {RI iii) TS iv) dddeR v) SAagi- HISHRDIY vi) AfSHd TR &b
vii) E@WW viii) SR T3 / What is the general equipment found in OT?

i) OT Trolley ii) Heart Lung Machine iii) Pendant iv) Ventilator v) Electron Microscope vi)
Medical Air Tank vii) Intubation Equipment viii) Fire Extinguisher

AL, il iv, vi, vii B. i, ii, iii, iv, v, vi, vii, viii

C. ii, ii, vi, vii D. i, iii, iv, vii, viii

14. 1e w11 7=fF &1 SUANT fora IHT aob o o1 Wehal 82 / For how long can a heart
lung machine be used?

A. 4 €< / 4 hours B. 6 €c /6 hours

C.8d¢/ 8 hours D. 10 ©i¢ / 10 hours

15. fFgferRad & ¥ g ST eid o & e T8 f5am ST 82 / In which of the

following is NOT used for suturing?
A. = / Silk B. AT / Nylon

C. UTfAIERER / Polyester D. % a3C / Bakelite
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PART-I

(Questions 1 - 05)

Choose the correct form of the verb: "She to the store yesterday."
A.go B. went
C. goes D. going
. ZAagi- @1 @IS [ ®I? / Who discovered electron?
A. i 8Te / John Dolton B. 3{%C Y&WIS/ Ernest Rutherford
C. Y ISfAF / James Chadwick D. SIS, YIHEA / J. J.Thomson

. TP fhdbe WA & UgA 10 3NaR] H I Y€ $Had 3.2 Y71 282 T & 78T I Uga & e Y
40 ahaﬁﬁwifwamm%w / In the first 10 overs of a cricket game, the run rate was

only 3.2. What should be the run rate in the remaining 40 overs to reach the target of 282

runs?

A. 6.25 B.6.5

C.6.03 D.7.30

20 T3t BT 3N Y B 1 70 I HfRrepad foba-it Tt I § 1<) 81 Gebell 87 / The
average of 20 numbers is zero. Of them, at the most, how many may be greater than
zero?

A0 B.
C.10 D.
. TP TSP B! dR BT 3R SR HIA §Y IR 7 g, "d8 B} A b 3hald 9 pI JeT gl"
WWWW@WM%’? / Pointing to a photograph of a boy Suresh said, "He is
the son of the only son of my mother.”" How is Suresh related to that boy?

A. 3—IT$c/ Brother B. 3{d / Uncle
C. @9 / Cousin D. fUdT / Father

1
19
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PART-II

(Questions 6 — 15)

6. WWWWW@W@WWﬁWW%I / Name the process
that converts a message into communication symbols.
A. Hif$dT / Media B. TAdITST / Encoding
C. ufafehdr / Feedback D. f&®IfET / Decoding

7. oaieH FEfafad )R Ser a1 JIHeR) UgH #Rar g: / Accounting provides data or
information on:
A. JeU®] o foIg 3mg 3R AFTd / Income and cost for the managers
B. T3t I faxita RUMT / Financial conditions of the institutions
C. foreit oy e o fore it &t R < / Company's tax liability for a particular year
D. JWRIe FH / All the above

8. fam! aram W%ﬁﬁ\faﬁf W) ﬁ?";!\_ﬂﬁ%/ Sales invoices are first entered in:
A. %ﬂ@/ The Cash Book B. WRIg SMd / The Purchases Journal
C. WW/The Sales Journal D. W@Fﬂ/ The Sales Account

9. IS Td Soi & AN A gl W &, Al 3faR ) fbaH ! fopam ST A1fT / 1f a trial

balance totals do not agree, the difference must be entered in:

A. TTH 3R g1 WTdT / Profit and Loss Account
B. ATHHIA WTIdl / Nominal Account

C. d,_\\_rﬁICIHT/ Capital Account

D. Y 3PHI3C / Suspense Account

10. ITE SR H quf ufawgyf &t fufa & & smaest aan Sifimm g2 / What do you mean by
‘under conditions of a perfect competition in the product market'?
A. MRP = VMP B. MRP > VMP
C.VMP > MRP D.Eﬂﬁ@[ﬁ%ﬁ:@f/None of the above

11. Hhd T@H IS YD T AU 82 / What do you mean by Gross National
Product?
A. %mﬁw@am&ﬁ G?IT@GTG?[WW HI / The total value of goods and services
produced in the country
B. ox & It @H-é’fﬁﬁrﬂq / The total value of all the transactions in the country
C. 3 A ITfed axgatt 3R Jarei &1 o A 3R AW J U Y FRP 3 / The total
value of goods and services produced in the country and the net factor income from
abroad
D. oX1 ¥ Ianfed avgaft iR Jarsif & $ Yo H YeagT / The depreciation in the total

value of goods and services produced in the country
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12. SHd DI 3R 1 H&d 82 / Journal is also called a?
A. @W/ Day book
B. %@W/ History book
C. @Tﬂ?ﬂﬁ/ Ledger book
D. Q@@’&T/ Entry book

13. ® 91 faweq saraanfiies Mfafafer 78t 82 / Which option is not a business activity?
A. UR@g- / Transportation
B. HICT &I HlalH-Uald / Exchange of goods
C. HIdT T 3dIq / Production of goods
D. ASIgX} o Tt fandit RE™ H @19 H=AT / Work in a factory for wages

14, Fgfafed o 9 ®F 91 9F faddt T & fore IR 319 & U 8 IuanT fosar o g, o &

SHATHI®? / Which of the following values is used as a summary measure for a sample,
such as a sample mean?

A. STGEIT TRTHER / Population parameter
B. THAT RfteR / Sample parameter

C. =HAT it / Sample statistic
D. S-THAT A1 / Population mean

15. Fgfafed o 9 ford 700 Tifege! & = o +f g=ifar ST 9T 82 / Which of the following

can also be represented as sample statistics?

A. BI¢ UId 31&R / Lowercase Greek letters

B. RIT 31&R / Roman letters

C. &g AH gUfHTET / Associated Roman alphabets
D. a% Wb &R / Uppercase Greek letters
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Rough Work
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